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Section : General Awareness
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Section : General English

Q1 From the options given below choose one that forms a correct sentence:

Ans « 1.

Varun who was about twenty. a tall, lean fellow was watching a wrestling match when [ approached him.

< 2

Varun a tall, lean fellow who was about twenty, when I approached him was watching a wrestling match.

X 3

Varun who was about twenty. a tall, lean fellow when I was watching a wrestling match approached him.

X 4

Varun who was watching a wrestling match was about twenty when I approached him. a tall, lean fellow.

Question ID : 998367990

Q.2 From the options given below choose the part that has an error:

Mulberry and other fibers / along with fishnets. / old rags, and hemp waste / is used to make paper.
&Y ®) © @)

mi 1D
~ 2
X 3
X 4

W o O

Question ID : 998367989

Q.3  From the options given below choose the correct pair of preposition which will fill the blanks respectively:
Heis _ European buthis wifeis _ Indian.
Ans J 1. A,an
/< 2. A the
/< 3. The, an




/< 4. An, the

Question ID : 998367983

Q.4 From the options given below choose the one that means the same as the underlined idiom:
When pigs fly, Priti will start studying everyday.
Ans X" 1. When pig will start flying.
/< 2. Something that always happen.
+ 2 Something that will never happen.
/< 4 Something very easy to do.

Question ID : 998367979

Q5 From the options given below choose the correct pronoun to fill the blank.

Thate  talking too much.
Ans X 1. himself
v 2 his
< 3 its
X 4 him

Question ID : 998367986

Q.6 From the options given below choose the part that has an error:

Papermaking is / considered to be / one of the / Four Great Invention of ancient China.
(A) B) © @)

Ans X' 1.
< 2
& 3.
v

0o W O

Question ID : 998367987

Q.7 From the options given below choose one that is NOT the correct synonym of the underlined word:

Most of the people in India still believe in sorcery.
Ans o 1. Worship

< 2. Alchemy
X 3. Black magic
/< 4 Conjuring

Question ID : 998367992

Q.8




From the options given below choose the part that has an error:

A gheet of paper created / by Cailun. / an official, who was attached to the Imperial Court / during the Hun Dynasty.
(5] ®) (© (D)

Ans x1~ B
v A
X3 C
X 4D

Question ID : 998367988

Q.9  From the options given below choose the correct pair of preposition which will fill the blanks respectively:

A creative engineer named John Roebling was inspired an idea to build a spectacular bridge connecting New
York the Long Island.

Ans %1 on, to
/< 2. upon. along
/< 3. from, into
W 4 by, with

Question ID : 998367984

Q.10 From the options given below choose the one that has used the proper conjunction.

Ans x1~

The Brooklyn Bridge is one of the oldest suspension bridges in the United States who comnects the New York and
Brooklyn.

W2

While conducting surveys for the bridge project, Roebling sustained a crush injury to his foot when a ferry pinned it
against a piling.

X 3

After the amputation of his crushed toes. he developed a tetanus infection and left him incapacitated and soon resulted
in his death.

K 4

Tt was the longest suspension bridge in the world. from its opening until 1903, since the first steel wire suspension
bridge.

Question ID : 998367985

Q.11 From the options given below choose one that is the correct synonym of the undetlined word:
“Adien. Clara,” said he gently 1o his sister, taking her by the hand before leaving the room with rapid steps.

Ans 1. Hello
/< 2. Greetings

< 3. Good Day
W 4 Farewell

Question ID : 998367991

Q.12 From the options given below choose the correct pair of preposition which will fill the blanks respectively:

active ingredients of commonly-used sunscreens end up in the bloedstream at much higher levels, according toa
study by United States Food and Drug Administration rescarchers.

Ans ?(1- An:the




K2 An a
o 3. The, the
X 4 An, an

Question ID : 998367982

Q.13 From the options given below choose the one that means the same as the below word:
“Algophobia™
Ans X 1. Fear of water.
/X 2. An extreme fear of height.
« 3 A phobia of pain.
X 4 Fear of being alone.

Question ID : 998367980

Q.14 From the options given below choose the correct form of adjective to fill in the blank:

This book is  than that one.
Ans X 1. costliest
/< 2. much costly
W 3 costlier
/< 4 most costly

Question ID : 998367981

Q.15 From the options given below choose one that is NOT the correct synonym of the underlined word:

Priya looked very solemn.

Ans X 1. sedate
o 2 frivolous
/< 3. portentous

/< 4 pensive

Question ID : 998367993

Comprehension:




Q.16

Ans

Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics. who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions, we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line. it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

SubQuestion No : 16

In the paragraph what is considered as “Backyard of
Perfection™?

< 1. Wealth.

o 2. Mistakes.

# 3. Academic score.
< 4 Health.

Question ID : 998367998

Comprehension:




Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics. who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions, we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line. it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

SubQuestion No : 17

Q17 YWhat is the Antonym of the word “dabbled™?

Ans

X 1. Work superficially.
o 2. To take part

& 3. To mess around
/< 4 Not be serious.

Question ID : 998367999

Comprehension:




Q.18

Ans

Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics, who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules,
stressful assignments and anxiety-ridden counseling sessions, we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line, it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

SubQuestion No : 18

“Companies are reported to have decided not to take
top rankers because they were found to have tunnel
vision™. What is the meaning of the phrase to have
tunnel vision?

7 A person who holds on to a single opinion rather
*  than having a more general understanding.

/< 2. A person who cannot handle failures and problems.
/< 3. A person who has negative thoughts.

< 4. A person who looks beyond a tunnel.

Question ID : 998367995

Comprehension:




Q.19

Ans

Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics, who
seem to fit the job. So what is the big deal? We often forget o
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions, we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error. however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line, it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

SubQuestion No : 19

According to the passage which qualities finally
matter on the stage of life?

#< 1. Qualities that help him gain name and fame.

) Qualities that help them to make their character and
- personality.

/< 3. Qualities that make him earn more and more wealth.

-, Qualities which make them score good marks in
exatmns.

Question ID : 998367997

Comprehension:




Read the following passage and answer the questions given after
it.

Is academic excellence a true measure of one’s success in life?
Is there a correlation between successful people and the marks
they secured in their academic career? Companies are reported
to have decided not to take top rankers because they were found
to have tunnel vision.

It is true that hardly any country is run by rank holders. It is
those who dabbled in much more than mere academics. who
seem to fit the job. So what is the big deal? We often forget to
tell our youngsters that the achievements of great men and
women stood on the foundation of the mistakes they made in
their formative years.

Behind Winston Churchill’s perfection lay a history of failures.
By making a student walk the tightrope of tough time schedules.
stressful assignments and anxiety-ridden counseling sessions, we
not only rob them of the fun of childhood but also cause damage
to their social, mental and physical well-being.

Present system leaves them no room to err. Error, however. is
the backyard of perfection for it is by learning from mistakes that
we become better and brighter individuals.

There are limits to the child’s elasticity — stretch him too far and
he could snap. Ten years down the line. it won’t matter which
college one went to or how much one scored. Don’t we all know
what qualities matter on the stage of life? All that goes into
building one’s character or personality are acquired in the course
of day-to-day life and not by scoring high marks in examinations.

SubQuestion No : 20

Q20 According to the author, on what does the foundation

of successfil men and women lie?
Ans X 1. Their hard work.
X 2 Their intelligence.

o 3. Their previous mistakes.

75 4 Their academic records.

Question ID : 998367996

Q.1

‘NI oTeg T ToaTH oreC T 27
s of 1 GUEIE




75 2 HedE

=

X3 T
K 4 afEg

Question ID : 9983671013

Q.2

Ans

UT ¥ B TS & - 9190 H W F ST G FRE Fgl AT
1 IOT

X 2 FeoT

W 5 379TET

X 4 =3

Question ID : 9983671008

Q.3

Ans

Ao oreg H FiT T THE 27
K. ARy

X 2 =gefrema

K3 FHURA

v o BT

Question ID : 9983671007

Q.4

Ans

‘HIFIT Ueg ¥ BT g F FLwer 32
qua;l'ﬂ'lﬁ'lﬂ_nl?!?
X 2 gEmmETs
X 3. FEGTEIR

X 4 grTTRe

Question ID : 9983671004

Q.5

Ans

Fid TT U, ‘I T g7
X1 Prag
X o TR
o 3. SIdr

X 4 R

Question ID : 9983671002

Q.6




Flel T A Tl T T F YT 82
Ans of 1 HedrH

X 2 HEEaTEeT

<3 sfFemEa

X+ Fafafza

Question ID : 9983671001

V7 ey e ¥ TE qEETER e FiE T 7
MK gfear, sorRar, e, wEen

v . ferga, g, wm, st

X s gooan, sfew, gmrEa, &
X o T, Afeeer, fasuiitar, @

Question ID : 9983671012

¥ P @ ey T Fr TR F e A 2

X R
X 2 cggETE
W 3 3oaad
K 4 IR

Question ID : 9983671000

Q.9

TETY A F FEH UG FAT g7
W g
A2 B
K s i
2< 4 HeAlehd

=

Question ID : 9983671014

Q10 &8 cqrrroT & I T § S, ‘eamas Ak sfEeTmEes gy B2
Ans X 1. STel

X 2 By
v 3 gaarH




&< 4 ForgoT

Question ID : 9983671006

U we & g I B wee F &7 9K 9EFS @ ¢ & 47 FEen 27
Ans * *
~< TgFd =T
X 2 HETHIOT =T
X 3. 7Ea9TT TS
v o gfaeT TOed
Question ID : 9983671005
W12 gfrRede & TR ¥ FERaT Us FT TE BeoE F4T gem?
Ans X 1. FETII+ET
X 2 F+Fer+ay
X s FiE+Sar+ay
v o FwEHETET
Question ID : 9983671003
O et T FF @
e X e FEa & & e e
v 2 3Rl FT Fe-For e BT H{T g
X s T JEdeo '@'?m%ﬁmaﬂ'aﬁ'l
X 4 93F THETT S & T =T e )
Question ID : 9983671010
M oaERRT AT oy Ay e
Ans

X 1. OHg HTH T & 2
X2 3% 992 ¢, frg o &
X 3 HTEET & RBeEr gmsar g

W 4
Fia Vg e g, Sws wfee agaes &1 a1 J g anl

[ Question ID : 9983671009




Oy e FT SATTERER e H OT 7

Ans x 1. q:rq_’_a.
K 2 Fer
X 3 AT

v 4 R

Question ID : 9983671011

Comprehension:

A T T s #F TEeN @ T WAl & 3o}
aifsT

‘T & Tor F BT TEoEaT S AT & AT a
HEFT @ & & g1 3Rtk o samar 1 ey g
HTET St g1 HTcATIRaTH g4 AAGIE® iasd =il &
Forr fB@mar 21§37 F71 gFAe okl F gy =g 3k
NeETan, 3% wfa el &1 Sty gad Jaer & 36
ST ST 81 §H RS H JEeT H AT JeIan
ST TRV FHAT FAN FEA- F W sAT &1 gAY
FETTSl 7 Helsh ¢ He| AGAT Hel W HoAfashal d
gHESEr JE7 FFam § 7o Teel 3, dwcuss 1 wersEr
AT HTRETHT & [ATH Fdl U] 3ol AATEE FadA,
forgEemar A smenfasar & FRor & e fAfiee
eI TS| §H HEE T TE AL S, HEEU A @
TATA § FEACT, THAT, 2T F gH e TERR
ST o @ @hear AfREa g1

SubQuestion No : 16

W rad g g Fw o 7

K. siifas gE-gieed & B
X 2 3R T & gl
V'3 GTHER AT §, HIcHTASAT o B
X 4 IS0y 2ar B

Question ID : 9983671016

Comprehension:




S R v TeEmy F oSeeY YU T WAl F 3R
SIS

“fordt off gor F AT Tag=ar StEE gdr #1 TEaT &
AR ar ear & g1 3erfAsk off samar 1 anedr g
HTEAT &Y 81 HTeATaeaTd g6 AUGqas® siad s
ForT H@Er g1 987 FT gFAe ok & 9y =g 63k
HTeHIET, 395 9ia SFEaery &1 Sty gl #@afer & 3
T ST £ FH ARETHT T e F e deaan
TSEAT T THAT gAY Aaa-4 F 9 swa g1 gAY
FETYEET & HoAs ¢ Tel TTAT HE W IAfashar &
HASIET d7gr fFar 3 T2 Tl O, deedse o) gersEr
HR FTHETHT F AAH 74T F| 3o AATGH TEII,
fggeaar 3R cafsRar & FRoT & 9= &fEse
TEAH §A8| g5 HIWT Fr g A% WA, HTWI; T [
TAAT €1 FEIAT, WIUhdl, 32T HI g7 Tfg FEPR
ST o a7 FFerar AR 21

SubQuestion No : 17

7 Rgw F gwear S arsg B 57 g 17

s X gam 3k srmdt B gdET 56
X 2 99T F AW T JUT FF
5 AR, WHAT HR 3TTIOIT H FEPR FeATRT|

X 4 HAF IFL &F FS5C TEFTI
Question ID : 9983671020

Comprehension:




A T v weEmy & Wes YU T WAl F 3ol
|

“fY off or F T TEETEaT e @ §1 TEaT g
AR ar aar & g1 3eRfask off samar &1 e g
HTEAT & 1 AT g FAlerEs e S #r
wom A@rar 21 937 & eAe ol & 9fg =F #R
eI, 3% wfa el & Sty ga@dr J3Er & 34
T AT E| BH HRETHT T e H AT TeTan
gerEr =gl FHar gAY Shaa-3h F 9w wAa ¥ gAY
FETITET F HeAs ¢ Hel TTAT HEl W HAfaehar &
gHESET FE7 T § T PRl O, dweues o wereEr
HT TRt & AETH A& | Ieel ATEe T,
fgaeaar 3k amcafasitar & #ror & e fafise
UEH SIS g5 HIWIT T TE AL ST, HITET T TE
TATAT ¢ FEIAT, HIUehdl, 323TYUAT HI &H TG FEHR
ST of A T%ear Afag g1

SubQuestion No : 18

@1 oy mEET ¥ 3T FERT a9 I

Ans

| W1 @ GFAE, Bl # Tg AR TowEerl w7
grer
mmﬂ-ﬂﬁraﬁgﬁmmmﬁt

4

> 2

X 3. HTAT HTFETHT &F HTFM F 354 & =A
X 4 HTET T T 5@ F TER

Question ID : 9983671017

Comprehension:




ar I ww ey W UgER IO T WAl & 3o}
T

‘TR oY gor F OIT FEaEaT IIEE 2T &1 TEaT
TEFT o 27 & F1 meAfersiT o a=mar 21 3Teer &
HTEAT &Y B1 HTeATIATH g/ AUGE® =iad =i #
ForT fH@Er g1 987 FT §FA o & 9T &= 34k
HHRIET, 3% 9o SFAERY &7 st g/l ®Aier & 349
ST ST 81 §H HTHETE H JEeT H AT FeIan
T TIRT FHAT gAY e F I saa § g
RS & HAF F°C W ATAR e W 3Afcvahar @
gA=Er A7 B 3 T el 8, geeuse 91 gersEt
3R HTHETHT F AH FAG A Iegle AATHS FaAA,
fAgaeaar 3R senfAsRar & FRor & a9 BfEse
UEEH 9AE| X NTHA ST IE Al @er, HTEI @7 UE
TATAT 1 FETAST, THAT, SRR FT gH TG FEFR
§T o S F%aar AfvEaT 217

SubQuestion No : 19
O gER mETgRET & FmEET B
K g e T w T ae 59 R
§ 3AF FSC HE, TS Hel 9T ATahar &
THSar Jar )
X 3. gH 49T 7 §ERN o
X 4 TH AR 909 & 398 99 Ul

v

Question ID : 9983671018

Comprehension:




S R v weEmy & Wee YU T WAl F 3ol
|

‘Tt off o1 & AT TadEaT SEw A ¥ AT dw
AR ar aar & g1 3eRfAsk off samar 1 e g
HTEAT & 1 WA g FIlErEE e S #r
ForT H@Er g1 987 FT gFAe ok & 9y =g 63k
HTeHIET, 395 9ia SFaedy &1 Sty gl #@afer & 3
T AT £l BH HRETHT T o H AT TeTan
TSEAT T THAT gAY Aaa-8 F 9T swa &1 gAY
FETYEET & HoAs ¢ Tel TTAT HE W IAfashar &
gHESET FE7 T § T ol O, decves o1 wereEr
HT HTHETHT F IAATH A& F| Sl AATES FEAI,
fggeaar 3R cafsRar & FRoT & 9= &fEse
TR §A8| #H HIWT Fr g A WA, 3 Y [
TATAT g1 FEIAT, HIUehdl, 32TUAT HI &H Tlg HEPR
4T of A A%l Afeaa g1

SubQuestion No : 20

Q.20 mm-ﬁ-ﬁ-ﬂ,m AT Fhadl ?’7

As X 3 RreerE ¥ e @9 3T B

) HICHTRATH §H AT Sfaal Sl 1 el
Rrgrar &

X 3 ta=ee e Y a7 fearw & B

X 4 gy ot o= Fr afdT ear F

4

Question ID : 9983671019

Q1 riR—R f(x)=10x—7 zERr uile o wowr &1 3R g = @ g@) & A= 71 =17
Ans 1

S

10x+7
x—7
10

<2




+7
VIS
10

10x—7

Question ID : 9983671024

Q2 oy () rgew i B F e T A et g g e Y
Ans X120

W 2 —20+tan20

X 3 20+ tan20

X 4 tan20

Question ID : 9983671030

Q3 mﬁ:go#mwmmxﬁme=r)=(‘;—?“tmr{u.ms ..... 3 %,Fﬂ'iiﬁ'l:l‘lﬂ'
g &1

Ans

Question ID : 9983671040

Q.4 s swer x 3Ny TH WO o ¥ W THE THES @ G REE (y) §1 7% snr wor g, F wremw
¥ o o s Rl ) R E RS Gy &1 RIE R () = R () R G =R ().
S8t R, M R, & (2 <2) 3eqy §1 d& (DeR,) (Detk,) & A W,

Ans X' 1. sina sinf
V21
/& 3 sina cosP

/< 4 cosa sinf

Question ID : 9983671027

Q5 = # 63% WFF F 7ol v A, 82% F v Fa, 68% F U &g, 91% F v 2T AT &,
e, x% F WIS HAY WRT 3T 1wy Ry, A7 x H e GgAaH A A FL7

Ans “1. 4
<28
x 316




<412

Question ID : 9983671021

Q6 = T y = f(x) F FHT eI [(x) = 6~ 1) 1 IR gEH A, WY 2, 1) @ qear § i
=7 fig W T W EesAry =305 ¥ @t wew A A

s X1 (x—1)?
K2 (x+1)°
X3 (x+1)?
4 (x—1)°

Question ID : 9983671033

V7w we #, 25% feaiEt & fee AT 15% & ardiarer g, 65%
feafiat & & &t fhde & & arcferer gom 2000 Reanfdat & free
3R FreiaTer gt @ ATl 39 waw # T sue W RER #

. 10% Fgzfdat & fre 3T afeEra gom
II. 35% faganfit & frdhe aruar ardEra gom

lll. Fres # i@t Hir w=ar 40,000 21
3T FUAT H T HiT TEr 22
Ans ), 11 3 I
X2 | 3T
X3 13T
W 2 11 3
Question ID : 9983671022
Q.8 p 3
ofFA=|1 ¢q 4],pqr=60 AT 8p + 4q + 3r = 20 T A(adjA) FT AT AT FL?
T
Ans 188 0 0]
X110 838 0
| 0 0 88
64 0 0
X210 64 0
| 0 0 64
(34 0 0
X3l0 34 0
| 0 0 34




68 0 0
v:2|l0o 68 0
0 0 68

Question ID : 9983671028

Q.9 uf:‘:A=(_?‘4 _12)34‘11'21‘%.'!+2.1+3A3+~-+m=[$ g]a’rla+3+y+6|=ﬂr3ﬁﬁa;mam$t?
Ans 114 4

<2 -1

<33

<42

Question ID : 9983671026

Q10 Zfx £(x) = —f(x) & f(x) U Fad a2 Il Bl AW gx) = ' (%) I

7% Fx) =(f(§));1 +(gG))2 3K F(5) = 5, & F(10) & &1 #1d &Y
as X110
X 2 25
X3 0
v 5

Question ID : 9983671032

Q11 zr sz 5 3T b =T & FgE=T 1, 2, 3, 15 ¥ AeTeow o0 7§ &) wHE0U 25-36= 0 F
T gF 1 fw &

Ans 2

XLE
2.
}{3.1i
p R

Question ID : 9983671039

Q.12




paﬂ'{qra?rm,ﬁ'mé?ﬁvm

sinflp+1)x +sinx fx < 0
flx) =+ @ 3 yifx = 0
‘?_4_ ifx = 0

vata®x

R & @t x & T §ag &, aFm

Ans X1.p=%Jq=g

Question ID : 9983671031

Q13 mFx =242, y=4t-5z=2t2 6t T t = 2 T SFE TG 558 TIL=AT Figr 7 FII
Ans

1 -
<o E(_il_i_j}_l_ k)
X2 %(2?+j‘+i?)
Vs %(zh 2/ +k)

x4 %(i’+j’+§)

Question ID : 9983671034

aras( D= Yk w-sarad o w7 w0

Ans X1, 8
v 7
K37
X4 -8

Question ID : 9983671025

Q.15




Ans

R e (2,5, L) o Y ok R s (25, 22 oo s Yar & e w7 00° §,

N ETREVE AT

& e o 3R b & el wE a g w0
W41

X242

X3 -4, -2

X414

Question ID : 9983671036

Q16 1 ¥ 5 yrgfas Teat & 7 G9y- «Uw ¥ §37 UF WENESE 9T & E

Ans

X . FHEAr, gAFEGT 3R gFaE

v 2 FEHdar AR TARDSY IfFT TEaE FE
X o gafadT ik gFaw afa Faear FEr
X + FEFar 3T TFaE afea gafEST FE@

Question ID : 9983671023

Q17 Rar g jal=|b|=1 sk |a+b| =3I IR ¢ swwmm wRu E B c—a-20=3(axb) a

Ans

0P & AW T F

XLE
2

5

2=
v 2
X3.§
2
}(4.__1
2

Question ID : 9983671035

Q.18 o & & 3w 3 5wy A F & FE mefew ¥ ¥ B w ) ow T ¥ A o gwh A

Ans

F FTT F19 F wiiheEar P § 37 28F - 15 F A &

KLE

2
<21
Vs 0
X4 2

Question ID : 9983671038

Q.19




T T lim (4%-1)?
£ ﬁ x4} sin@luge(lﬂ%}

Ans X1 log,.4
< 2 5(log,4)*
W' 3 12(log,4)3
K 4 (log,4)*

Question ID : 9983671029

Q20 #fy fig A(1,1,1) & figait B(O, 6, 8) ¥ dieT el Xam & & & gff 3t

C (1, 4, 7)J§a:mﬁaua—rr%ag'rp 3R quE T EFar

(p+alp+a-1)
2

Ans 1. 5050
X 2 5510
v = 4850
X 4 5150

FT AT AT FL2

Question ID : 9983671037

Section : Discipline2

Q.1 ﬂﬁmax7+bx+c=(]3-ﬂ?x’+x+l=ﬂﬁ‘ﬁ‘la'mtEﬁ‘a:b:ciﬁ‘l'm?l'fﬂ'ﬂ-ﬁ'?
ans of 1 q21

*22 28321
K31 :=2:3
X4+3:2:1

Question ID : 9983671049

Q2 ux == F 3 3wHET A, B #k ¢ B F B ¥ v soride 3 v 4 B e s b
10 Rzl &1 3wde &7 & ol & Fu a7 F:?

Ans X 1. 15000
v 212600
X 313500
X 410800

Question ID : 9983671047

Q.3 6 Seit F A 3y frwEw FAen 6 3T 7§ TR W Seor 1, 3, 4, 6, &, A O 2 dawi wv AT
T HL
Ans




X117
v 2 16
X315
X418

Question ID : 9983671060

Q.4 - ) ’
e z = Vet oy (i191 + 2191193 1 AT AT L)

Ans 1.7 2
X2 wz (@ T AEAS Thd G710 8)
<3z
vz
Question ID : 9983671050
Q5

(2+i)“$mﬁ, x™7 3R 2% F AUIE FAS §, A n F AW AT B2
ans X151
X2 52
V'3 55
X 4 BB

Question ID : 9983671042

Q.6 HffeT ¥ v e # 7w w7 a=m wh e F v oF 9w @ 9 el T 106
W Ger & 4T AR T fEenedt & TE 7 F#:1H

Ans X' 1. 35
X212
X310
v+ 15

Question ID : 9983671046

Q7 TfE x@r 3x+ y+ 2 =0, 2x- y+ 3 = 0 3 a’x +2ay + 6 =0 HAA &, A « FT AT T F
e X FEe (1-+/7)

Vi (7+1), (1-V7)

X3 aer (V7+1)

X (V7+1), (7-1)

Question ID : 9983671058

Q8 14+ (1+43)+(1+3+5)+(1+3+5+7)+ & 15 9af & a7 10X §, & A F1 7 717 Ll




Ans X1, 220
X 2. 240
X3 142
v 124

Question ID : 9983671055

¥ g x|+ x| —6=0, F U §
e X EeT 1 % Ty I

X 2 greafas T ST

X 5 IUEHS 0 F WY IEASH

v 4 oTrEr 0 F Ty SEaEE

Question ID : 9983671048

Q.10 : . 2 . s 10 . 14 o
HAT YA 1+ -+ S+ -+ + oo H AR AT F

Ars of 1.3
K22
K31
x4 4

Question ID : 9983671054

Q.1 TR X FaEn = 8P AW F T = e de e § A P(x—4]<2) AW AW
F|

Ans o]
128
119
128
101
128
11
128

Question ID : 9983671041

Q12 71005 4 171995 _ 71995 Fwegyy 3 SRS & TUWT T 3iF AT HI

Ans Xl 2
<20
Vs




X43

Question ID : 9983671043

Q13 gt [3 (12424 b)) = 20 (1= 24 L4

Ans - X1 e 100

1

X 2 FHael —

100

1
v — 100
100°

1
Xﬁk%rcﬁrﬁ

i m)]’“”‘” # FeT WA GO A AT

Question ID : 9983671056

Q.14 " i
TfEr cosd, = 2cos8, AT tanalzﬂz.tan “1:“2 FT FT 7T L

Ans 1

Question ID : 9983671052

Q.15 z% & 13 Femwt 5 UiIs W awAT B, s T s R w AT s N s M w s AT W

oo, 75 7w €1 A F Fo F 37 AEAE & Faa v § W gwa 7

Ans 1-2|
« il Wit
40

X 2 9l
11!
v R
40
13!

v
40

Question ID : 9983671044

Q.16 (m?2,2m), (mn, m +n) AT (12, 2n) W y-HeT T Hisreral &I damar g

A X1 AP. 3R GP.

v 2 G.P.
X3 AP.




X 4 HP.

Question ID : 9983671057

Q7 o sr4ze1=0ar (z+§)z+(z= +fj+ (z‘+:—,)2+-----+[z“+z%)z F AF A FI
ans X122
X 2 21
v 42
<411
Question ID : 9983671051
Q.18

Ans

10 10 ;
"y ¥ mn—1(ﬂ)$rz|’m=f(nr-frff FT AT AT F

n=1m=1
K15
v 2 25
<315
K 4 35

Question ID : 9983671053

Q.19

Ans

feT 3=zt 6, 7, 8, 12, 13, 15 F F=aa 7 F?
X 1. 14.08
X 21215
X 3 12.05
v+ 11.14

Question ID : 9983671059

Q.20

Ans

Ge+2)! | @x+1)l 72
(2x—10 " (a3} 7

—54
1,
i 28
v 4
X3 —4

54
4. 7%
i 28

FETxEN dr x F AT A9 L2

Question ID : 9983671045

Section : Discipline3




Q.1

Ans

T/ # & Fia @ Aq ¢5 AsFEwe a8 2016 # 7@ gar?
X1.ﬁaﬁ;\

v 2 Zmar

& 3 Fu3T

X 4 RS

Question ID : 9983671079

Q.2

Ans

e F & F A T T P

(i) HE T HOA-HE AT e g
(ii) FTHT TR AT T g [ECA g o REe AR RweAt # s @ d

v Fae (i) e g

K2 Faer (i) WE &

X = (i) 3R (i) S wWET E
XKoo Frar (i) & & (i) mér

Question ID : 9983671072

Q.3

Ans

T= & 3w o w8 2

() FHE-¥T THAT, UF TFT F SAS THaT 2T £
(i) 3w Hiwer R Rarsd, e &9 ofid ® wagew ASCI #isw & wRafde awe &

K@ ar (i) ar & (i) wér g
X2 Fae (i) WET &

Vs (i) 3 (i) S TET E
X 4 FaeT (i) TET &

Question ID : 9983671064

Q.4

Ans

A T 7 ¥ FiF vF AA-sF0=e ReT F7 35807 27
v gFee R

X 2 gl Afeew Rex

X s T R

X+ g7 BT

Question ID : 9983671063

Q.5




Ans

HATSHIATFE TiaTearse FT T 3STEL0T ¢
X 1. grEaET
< 2 Feex

v 4 gireaaT

Question ID : 9983671066

Q.6

Ans

/= 7 ¥ i @1 Fua T 282

(i) T TS sATleRY F3T UFHCIH & TF 3CIgIor %I
(ii) FH, T F HUKE FE FLAT

v Fae (i) HET

K 2 (i) AR (i) 1 @ér

K@ ar (i) = & (i) = &

X 4 e (i) TEE

Question ID : 9983671075

Q.7

Ans

5 & ¥ FI9 v IHR FT AHEIW Tl 87
X1 A greaaT

X 2 ufteRee HFeaay

& 3 grErfEeET FieaaT

v« gfedres FguudT TraasAe

Question ID : 9983671067

Q.8

Ans

e # ¥ #iF vF sage Rawy 7 37
v TETeT

X2 fEre

X s

X+ T Reeaya Rasae

Question ID : 9983671062

Q.9




Ans

o =1 e &

T - A = - B

(i) greaw (a) e B
(i) TFEETR (b) BIOS
(i) FFITT (c) FexETs
A () - (b), (i) - (a), (i) - (c)
v 2 (i) - (), (i) - (a), (i) - (b)
K3 (i) - (c), (i) - (b), (iii) - (a)
K4 (i) - (a), (i) - (c), (i) - (b)

Question ID :

9983671068

¥ mrEmmTEe 3T 365

Ans

v 2011
« 2 2010
< 3 2012
X< 4 2013

H o TR

Question ID :

9983671077

Q.11

Ans

FEa XP & sy & o0 & § &9 O &y 799 87
X 1. g e NT 3t f3Es 2000 &7 3cauesnr &l

v 2 Ig Faa 32-bit

TTHIOT H 3960 2l

X 3 Tg UF Hedl-arEeheT HoifesT f@red gl
X 4 gz v qr-veafes R R §

Question ID :

9983671070

Q12 f= & 2 7 @1 sy =T 7

Ans

(i) For, TEaTT 3T TS TY ENT 359w HuaRT AT @t F v i 6T wm =t

(i) &E= XP arf=ar ad E
X . Fae (i) TS &

X 2 (i) 3 (i) =T T T &
Vs Fae (i) TET B
K4 & ar (i) & & (i) T &




l Question ID : 9983671071

Q.13

fas &1 B =1

= - A wh - B

(i) Terete (a) FoFEliater Hel TTHUIE
(i) SMTP (b) BT ¥ fw Ee At

(i) SNMP (c) TR e gou=

s K (i) - (<), (i) - (b), (iii) - (a)
v 2 (i) - (b), (i) - (a), (i) - {c)
&3 (i) - (), (i) - (a), (iii) - (b)
< 4 (i) - (a), (i) - (c), (iii) - (b)
Question ID : 9983671076
U B = BT wE
T - A & - B
(i) woHA N & Fege (a) EDVAC
(ii) gEE 9 &F Fege (b) PDP-8
(iii) Jradr 9 F FegeE (c) IBM 7030
Ans K (i) - (b), (i) - (a), (i) - (c)
&2 (i) - (), (i) - (b), (iii) - (a)
K3 (i) - (c), (i) - (a), (i) - (b)
v o (i) - (a), (i) - (¢), (iii) - (b)
Question ID : 9983671061
M FEFNTH NTH HF g g
Ans X1 H'T\E'ﬁﬁﬂ?»l'
X 2 FIUEE THFATAAT
v 5 7 AT
K4 FAT EFATEIST
Question ID : 9983671069
Q.16

ASHETE 95 H BT JHR Ta & o0 FEE e Hia @ 872




ans o1 Ctrl + Shift + )
X2 Ctrl + >
W5 Ctrl + ]

X 4 Ctrl + Shift + ]

Question ID : 9983671078

7 B W e #E

- A = -8
() el =T W (a) o R
(i) 37 R (b) =gt fex
(iii) SR Rex (c) Hyaey Wex
Ans K (i) - (e), (i) - (a), (iii) - (b)
X 2 (i) - (b), (i) - (a), (iii) - (c)
K 3 (i) - (a), (i) - (c), (iii) - (b)
v (i) - (), (i) - (b), (iii) - (a)

Question ID : 9983671065

VP P F @ FiF vF A9 sEeR A8 2
Ans «1%

< 2 gwrr

X 3 3T

X 4 FTTRT

Question ID : 9983671073

U e § T i AEeave e & U 3y G B?
Ans 1. MAXIMUM

v 2 MINUTE

< 3 SUBSTRACT

& 4 HIGHEST

Question ID : 9983671080

% ¥ T F gest & POP 7 3 Tl
Ans XT a L—ﬁ nglu




& 2 OrEe HOE Qe
X 3 grEae HTIRET Qe
v 4 O afRT S

Question ID : 9983671074

Section : Discipline4

Q1 F=AB+CD+E @] #at & 0 el &1 3792 OR 3R AND 1z 3maeas gier?
Ans - X133, 2

X221

W32 2

~ 42,3

Question ID : 9983671090

Q2 gaw & e wua |8 § var Ted|
(i) ASHTFT TFAST H 27 TEes-FE Higey + AR 2 g T
(i) ATEFETT THFAT H TFEE T & T F1% wwa F&¥ g
XK (i) - T, (i) - Y
K 2 (i) - e, (i) - T
K s (i) - =@, (i) - FEy
W 4 (i) - =&, (i) - T

Question ID : 9983671082

** DHCP & g1 & T §7?

A o s fEe BT SiewIeE Seree
X 2 SR g SRR Srew
X 3 BfFce gt FiewRera Jawd
X «. R v Ty S

Question ID : 9983671092

Q.4

g gl

T NAND 31 #, HT3e9e A gHT 5id $9e
Ans (1_-[’-1




<201
K310
<400

Question ID : 9983671089

QS gow B BT Fus @ § anEr el

(i) FererTer 39EE, U STedT & URegew ¥ 2 Wel & @17 U IS @ B
(i) sedw afeem &, T&T Haa TH F23T Fo (candidate key) &1

e K () - T, (i) - e
v 2 (i) - Far, (i) - T
&< 3 (i) - T4, (i) - TS
K4 (i) - w, (i) - =@

Question ID : 9983671099

¢ CLl # R A = R

i X1 FaETE wEs seeaErad
V' 2 FATE AET SR
X 3 P AEA TIBT
K 4 FATS AT FAIE

Question ID : 9983671087

7 FraEt I e

- A TN - B

(i) INF (a) TXAT A

(ii) 2NF (b) AA-TTTea BIsT

(iii) 3NF (c) T HerraTer fBUSE
Ans X1 (i) - (2), (i) - (), (i) - (b)

v 2 (i) - (a), (i) - (c), (iii) - (b)

&3 (i) - (c), (ii) - (), (iii) - (a)

K 4 (i) - (b), (ii) - (a), (i) - (c)

Question ID : 9983671098




Q8 R # ¥ w7 w wyw W B

Ans

(i) FrEPETe THET 2016 A, T TWE T F AT B B
(i) AEFTTE CHdd, ¥ T F He A 9Ed e F 9gd $ YdE & I9AET FF qd ST
e 1tE R e 8 eg SBS3

XA ar (i) & & (i) g
X 2 Faer (i) FET B

Vs (i) AR (i) S TE E
K 4 aer (i) WE &

Question ID : 9983671083

*® ALGOL & g1 @re F7 §7
Ans x 1 rﬁ ﬁ ﬁﬁ
X 2 TEETHAE SSsr
v 5 TeiE A e
X 4 TSAEH BT 3
Question ID : 9983671086
W O F N FiF e oS SRR W FE R?
Ans 1. RIP
v 2 UDP
# 3 BOOTP
# 4 DHCP
Question ID : 9983671093
Q11 oo i fe Fye wE § 3rvar 9T
(i) AEFETE dat-arse 2016 &, 99 TST FHIeT BHE &F & IHaed # A &l
(i) F=TEa, AFPrETE Savarse 2016 # A W A4 ¥
Ans

v (i) - =@, (i) - e
X 2 (i) - Teg, (i) - Toa
K3 (i) - FTera, (i) - T@r
K4 (i) - =@, (i) - FEy

Question ID : 9983671085

Q.12




FITAT FT TR T

T - A T - B
(i) XOR (@) Y=A-B+
(i) XNOR (b) Y=A-B+
(i) NOR ) Y=4A+B
Ans K (i) - (¢), (i) - (b), (iii) - (a)
v 2 (i) - (b), (i) - (a), (i) - (c)
&3 (i) - (a), (i) - (c), (i) - (b)
K4 (i) - (e), (i) - (a), (iii) - (b)
Question ID : 9983671091
Y NORFE THF OR T E DTS s TF I 37T B
Ans o 1. NOT
X 2 XOR
X 3 AND
# 4 OR
Question ID : 9983671088
Y gum FogEr aRRE e T
X g e
X: T g
v 3 PR
X o g
Question ID : 9983671100
Q5 O # ¥ Fi5 SQL HAEH SRy ¥ afes fFee ¥ R sqaer &e s 32
Ans - X1 g
X 2 @E
X5 fede
VEE -

Question ID : 9983671097

Q.16




= 7 ¥ 39 O Fua 7eg 27

e X e AR fiees  tiRadee SRR S B
< 2 UDP UsATaSH=E HT 39ANT F41 T
v 3 TCP ts Fawea Igd S g
X 4 UTAT AT, AT SABH FE T T 2T ¢
Question ID : 9983671094
7 mrEwrERe THte & TeY ¥ e # ¥ #lF Fuw e 12
SRV AN -, Tl & IROTH FHed Tehel AT g gl
X 2 =SUM(LEN(A2:A11)) T HIeT T T 3eTe0T ¢l
Cf:’j.Shift+ Enter &7 3U3NT F33 3feleh T BIHe &of A @ HTEeTFar gar ¢
X 4 TH T BT, HeAw A T HTRAT FT
[ Question ID : 9983671084
O mEwEre TS A wEE, _ HE @ o 8 B
Ans «1_ -
X2 #
X3 &
X 4 %
Question ID : 9983671081
Q1 gaw B BT Fua GE E vEr el
(i) v3% Reege= S IP 93 & e o3 & o &
(i) Toerer 9ar, utac 9a1 & Fgarar g
Ans K1 (i) - FTEd, (i) - T
X 2 (i) - =gy, (i) - I
X 3 (i) - 3T, (i) - T@r
v 4 (i) - T, (i) - T
Question ID : 9983671095
V0 o e TEEw OfeET F U 9fEg s sgendar B
Ans

X1 ufgege




X 2 sEd|
VER -
< 4 Fres

Question ID : 9983671096

Section : Discipline5

Q1 gt (1, 1) S 437 =6 AT 2432~ 6x+ 8= 0 F fdx Rig ¥ TR 37 W T
£y

Ans X1 xZ+y?—6x+4=0
X2x2+y2—2x—2y+2=0
K3ax?+y?—4y+2=0
e xP+y?—3x+1=0

Question ID : 9983671113

Q2 vF FEw vm F ow vt wwrE, B SEAs o s A W9 fgat aw dav za swer
g FRTEE Ty Bew & e s Bur o1 e §, 9 e &

Ans o oy e
< 2 AH
X 3 TF HI5T viTeRers
X 4 BIEE T

Question ID : 9983671102

Q3 EDMI (Rege i g ATV STOT) 3 ST G GRE & A ¥ el e e ¥
e K e e e

v o Broe BfE

X 3 FIHTIRE TR

X 4 Jeus o freH

Question ID : 9983671108

Q4 =fr 3x2-3y7—18x + 12y + 2 = 0 TF HATHAT F1 FFS FIAT 8, 77 TTF6T F FHHOT AT
F1
Ans
6
Kox =34 |—
— |13




Question ID : 9983671114

QS5 wF e wew wdso F F, FE R R WIS el Aged T ¥, See W F were &
s aler Riesd &0

Ans X-].
ZfE M &, e By F F FE F wE ¥ 9w 3= @@ 9o fw s o
>~ 2
UE ¥ g B Y §HY e T W grEEis wF W oeh qor & = o s s arfge

W3
freg T ¥ arg, S wuw # e AR e v S dd suy e sw A w =
=fgTl

> 4
T TEUA FI SHF FET FF T g5 AT TESE Thsdl [AFolaT Iy

Question ID : 9983671106

¥ FEF T O F T T T FUA T 2

Ans 1
g 21 A1 # e A0 o acad dsfzy & wug = G B

>~ 2
TE el AT BRr F R v g @ g 7 b mea B

Vs aa a9 wfagia 8 Jar Fearn
X 4 Stuxnet IH FT TH 3TEI0T g1

Question ID : 9983671116

Y e B
Ans X" 1
TS dled T, ForEH aet 3R AvEe wefRilg g ¥

>~ 2
T ered e, OwH e afdaEt Fr aorer s 7 s e s F fre siredm ger §

W 3
UF 2ed Feuw, e v shdrew Atege g ¥




X« T dEe TR, S FGe ¥ S A &

Question ID : 9983671104

Q.8

Ans

% e Ry # v drmm St Prdera, Rigat & & Rt i Rigadt & @ g Hr aorr
TETH AT §, 9F g ¢

W 1 E@raEAT (COGO)
< 2 ofar

X 3 wF 315 vioeee
X 4 FEdelel HAFE=H

Question ID : 9983671107

Q.9

Ans

TET FET F TOw A T A ¥ FF w7 ws g 27
X . Tg TETA TART FASS-HTRS BISer TR TaT gl
v 2 I FEE W TR BISel WIS A6l i =T Fevcll|
X 2 7g AT ¥ THEd g

X + 7E WffT 7o TS Je Far 2

Question ID : 9983671120

Q.10 v smamirr s@T T T ABCD & 79 F &, FHAr o= 20 m w7 §| weror Aty & o ABCD

ST ATSE &35 400 cm? ¥ AWERT Hew F B 399 BT T dE T &

Ans X 1.1 : 100
<21 :2000
3.1 : 10000
< 41 :1000
Question ID : 9983671109
Q.11

Ans

fEis 10 & Heal & e FEE Adedey # 30 e & Ao &

T - A = - B

(i) Alt+Tab ( a) BIFT TFHATEART @ierdl &

(i) E=+M ( b) Tefr foers HfAAEs w=ar ¢
(iii) fA=TeT+E ( ©) For St & drr faw wwar &

K- (1) - (o), (il) - (a), (iii) - (c)
<2 (i) - (a), (i) - (c), (i) - (b)
v s (i) - (c), (i) - (b), (iii) - (2)




K4 (i) - (), (it) - (a), (i) - (b)

Question ID : 9983671119

Q12 v Peer wvm #r Aafdier ik B W W Fefter B & 39ERT gERT @ Sk
" SEfe Be T AR TR s (e o)
X 2 zrEars a7 A e i
X o Hiftewa oA AR Tper Fad
X 4 e coie dHR oo FFede

Question ID : 9983671105

Q13 FaAr FH P =r*+ 2 RFE F P =P+ P() sx ad & TR dasg oo 2
A
" 1 P(n) @EEI neN F BT 7T B

X 2 P(n) gHET nF Owaem
X3 Pm)maREI neZ ¥ e m=w B
X4 P(n) BATT n>k & o0 7T &

Question ID : 9983671112

14 sin x i
Q ofg [ dx = > secx —tanx+x +c¢ ar A & AT AT HL

1+sin x 793

ans X1 —798

1

P

798

V' 798

1

K4 ——

738

Question ID : 9983671115

O o e B

i X soeeTes Ao 3k e &1 e 5ue
< 2
TF SoFglad [gaEense dR Bfeea J9a & gaiea

X 3. IR eTHATHT ST UF Seea (AT

W 4
wF EDM - (Rega gwesw gt Are) #isqe & 91y g o= foea semse

Question ID : 9983671101




Q.16

Ans

& P & o iy 7 509 IR 0 e e Rig @ e o Yo, s &
A1 AR @

v 2 % T@r

X3 g @

X 4 HEgE @

Question ID : 9983671103

Q.17

Ans

T FE TEIE, S ABENIEER GORT T T & HLIT S6e § A@ [dr S Aol
v 1. 3gmgor Fr SafEEr

<2

fagt, arwall, THs= & At fr T=foa o

X 3. TEEnford o8 g

X 4 REaRET g3 AT

Question ID : 9983671110

Q.18

Ans

o= & o 39T wea F B fET atwe wiF @ @ g7
# 1. Ctrl + Esc

# 2. Shift + Esc

o 3 Ctrl + Shift + Esc

&< 4 Ctrl + Alt + Esc

Question ID : 9983671117

Q.19

11-2x 9—3x

HGATAST ET+§a:rgsra1?-ra#ag'rxeN gl
Ans X1- (1)13)
V2 {1,234.....,13}
X2 (—o0,13)
< 4 [1,13]
Question ID : 9983671111
Q.20

Ans

fE= &, & A @ & w9 e FiF 7 a7

# 1. Windows + Shift + R
K2Ctrl+ R

A3 At + R

« 4 Windows + R




Question ID : 9983671118

/]
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Q1 o= & o F @ e Rufaer 2 & o8 &1 5 99 oo F T wOw W HA O FE e
3 3
? &
Ans ?{1
X2 6
X33
VER
‘ Question ID : 586180185
Q2 s T w7 &, et aR o Rww T, @ @6 S F 919 9 AR 87
78368924769893628356168326¢9
Ans x-lg
X210
X3 7
w9
‘ Question ID : 586180193
W o RmsERT R E St dwd it dE P
A A A A 2
& 5 £ B
LB L)
A B C D E
A W1 B3k D
X2 As3kD
X3B3k E

Xacs3kE
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Question ID : 586180183

Q4 B F ¥ o7 o 37 amw, e w4 F A9 gy # 98 veR ¥ fele = 2

Ans

W

> 2

X 3.

©
@

Question ID : 586180196

Q5 frm wEw w5 #, B W v wE T F 8% A 3 ¥ w=w vew §, g 3w & e v
TH HET A4 E7

7836892476989362835616832689
Ans ?(1- 3

X286

v 4

X 45

Question ID : 586180194

Q6 e AR WX FEE A ¥ O v AftTw R F 'R § AR o e b 9w @ e A e
Ans 1. FUSH

X 2 BYVE

v = DWEV

X 4 HSOL

Question ID : 586180184

Q7 s woE F o S E B € s # guw wy F e F e RO s F e st A
ZHT, TEe & TN &) FeS 99 HE # F B 8 F T 0 & 9 R ¥ BT a2

(A) SZFQR - PZSRQ (B) KMRDZ - RMDZK
(C) HKLPT - LKHTP (D) TGRGD - GRTDG
(E)  MGKWT - GKMWT

S SRV - e




X2ca#RE
X3BalkD
X4 AdRE

Question ID : 586180188

¥ T e & weF R (?) F fOERE T T A T 9

10, 15, 26 7, 50, 63
Ans  of 1. 35

X 2 41

X3 33

X 4 37

‘ Question ID : 586180200

¥ 7z, W ¥ 3 vHR T § BE TR g, e @ e &
Ans of | SENOT

X 2 &H Hear
K 3. ol T ey
X 4 TE g7

Question ID : 586180181

10 R spmem # wea e (7) # sfawaRg &Y w9 dea o9

1215, 2323, 3431, 7, 5647

Ans X1 4529
v 2 4539
X 3 4659
X 4 4739

Question ID : 586180199

Q.11 There are two rows, each containing 3 numbers. Some rules are given below to be used for obtaining the resnltant
mumber for each row separately. Apply the mles for each row from left to right and answer the question.

Rules:

i, If aneven number is followed by an even number. the first is to be subtracted from the second.
ii. If an odd number is followed by an odd number. both are to be added.

iil. Ifanodd number is followed by an even munber, the even number is to be subtracted from the square of the odd
number.

iv. Ifan even number is followed by an odd number, the odd number is to be subtracted from the even number,

Row I: 18. 19. 12
Row II: 13, 7, 32

‘What is the average of the resultant numbers of the first row and the second row?

Ans 31 40.0
X 2 375
o 3 405




X 4 50.5

Question ID : 586180189

012 35 Rew oo ot oeg afr Waw Qe § S weet & R e Sy A
zfee : qmofr

Ans =g, g ¢ foreT
v 2. AT TE
X 3 g AT ;- dEdr

KX 4 TerereT : Al

Question ID : 586180182

Q.13 oz awgst, A B, C. D, E3lRF, # ¥ D, B Y Iar sndl 31 € &7 #R E & amn 31 B 3k E fAwew
AT RN EADIF R F C A3 and ¥ o we o w2

Ans 1 E
X2 A
X3 F
X4 C

Question ID : 586180186

W o R o fhe e B2

Ans X115
v 17
X314
X 4 20

Question ID : 586180191

Q15 s rwEoErd P oFag fIR TR oA EalirsHrard S Frage, vErohEr
V, Q #r 9= £

o T e, VA gE @ Q, S ¥ B wew wefe 2
Ans X 1. TEIT

X 2 zZrér

VAR

X 4 orar

Question ID : 586180195




Q.16

o og =Tl § ¥ &9 ° 3 A 27

(A) 69253874  (B) 69258374 (C) 69285374
(D) 69253784 (E) 69283574 (F) 69258374

e XrcERF
X2 A3RD
KB 3R E
viB 3R F
Question ID : 586180187
Q17 i o, A2 fw e F T ¥ @ R ot T

1.M. Parsuramiayah, G-527, Padanupulnam, Latacherry Street, Mahakumbhakam - 453 916
2.M. Parsuramaiyah, G-527. Padanupulnam, Latacherry Street, Mahakumbhkam - 453 816
3.M. Parsuramaiyah, G-527, Padanukulnam, Latcherry Street, Mahzkumbhkam - 453 918

4.M. Parsuramiayah, G-527, Padanukulnam, Latcherry Street, Mahakumbhakam - 453 916
5. M. Parsuramaiyah, G-527, Padanupulnam, Latacherry Street, Mahakumbhkam - 453 916

w2k s
K213k 4
K313k 3
X4+33R5
"’ Question ID : 586180192
Q.18

“‘1212#&Baﬁrc%mwmmw%%mwgﬁmh:s=a:sﬁr
B:C=7:9%3ua & § B Bl uarfy e

Ans 1. ¥ 540
W2 T420
X 3 T 421
X4 T 252
"’ Question ID : 586180197
Q.19

Ans

o ar & ¥ 99 Ry 5 afa ga= £ 3t o B 1 e oA S+l

X1

W 2




X 3

x s AT

Question ID : 586180198

Q.20

AR AT, O H 7 @ F7 & JsfFar &, & s 7 Fr aR
dSH A B, CHR D iR ax o=faT E, F, G iR HH & e T
o T F gT e AT

i. B, H % @y & I a1l

i. C 3T F &I v& Ty 1@ AT AT
i. G 3T D TF @ A& @ T

iv. E 3T G # v " @I =T TR0

e & @ 9, v a7 H @ AT S Thar 27
Ans X1 A D; G E

X2D;C: F: B

v3iF, EC G

X4+B;C F; H

Question ID : 586180190

Section : General Awareness

U1 RenfEed AeTw v IR 907 &, FEh seafen e @ g

Ans XT m
v 2 T T
X o FERTSE
X 4 FAes

Question ID : 586180207

Q2 =¥ 2019 7% & @R, 2015 # 94 & ¥ Rreg T o 417/6 TR, e G
ﬁ&:whﬁmmmp‘rm

A TR
X 2 grTemeer
X 3 THFeaTe




K4 HTRes

‘ Question ID : 586180214

Q3 3wy wuEER & A s S S @F § 590 & 59 F gwiEE) A9 A s 6
TF Wi, ANAT AE FA U8 WA G 399 § S wH & HOeR H RE &

Ans x.laia_;n@_
v 2 FaREs faE
X s & & fig
& 4 Hed ey s

Question ID : 586180202

U4 geradt awr @ fose anr & 9fEfda = & [T a9 &
Ans x.l%m

X 2 FarfEeR

v 2 YT

X 4 e

Question ID : 586180218

Q.5  pftar (Fw wfETE) #1013 F sand st ga ST Teaa e ¥ e e F @ B
FTceT Tiee 7 TS foar Tim?

e X1 sfEme sfrEwm @
\{’zmqﬁ
X 3 3qfTT aa
X 4 e g B

Question ID : 586180211

Q6 oif s F s B F ¥ W THUTE 55 # TR S Fenis SR wEee 9T amfte
FraAiai T AT o S g7

e K. Riftaen

X 2 I
X 3 3T goorel
v TF

Question ID : 586180215

Q7 g & Pt @ T, FoR, e Bomget At g e wfi¥t & fe oRe 32
Ans x1_ ﬁ

v 2 of¥gm see

X3 e

X 4 searEs




Question ID : 586180208

Q.8

Ans

HRAT WU F a1 1 F FiA ageee {2
X1 AT=eE 1 ¥ 10
Vo ST 1 14
X 3=08 198
Ko 3= 176

Question ID : 586180213

Q.9

Ans

WIS TS WIS FEe A, wer SRy et #e A @ o4Ra & R s f e 2
1. 33|5|I|F|

X 2 giHEeaTE

K3 g
v 4 of¥gE e

Question ID : 586180201

Q10 What is the motto of the Indian Army?
Ans 1. Satyameva Jayate
& 2. Karo Ya Maro
' 3 Service Before Self
& 4 Vande Mataram
Question ID : 586180204
Q.11 When did Indian Space Research Organization (ISRO) successfully launch Mars Orbiter Mission (MOM)?
Ans X' 1. November 2012
' 2 November 2013
& 3. Navember 2014
& 4 November 2011
‘/ Question ID : 586180219
Q.12 :
AR H U0 & FEOasdr & Hid @gea & g2
Ans  of 1 r=TETe

X2 =T F IEEA
X 3 F= FOIOTET $ qET araredrr

?(4.:3@:1#

‘ Question ID : 586180212




WP Syt @ eI wE v 37
Ans v =i, wE

X 2 zafad, 3T

X 3. IEET, HATET

X+ Saar, stz

Question ID : 586180220

Q.14 ez £ woareh & s @ S ¥ 1036 ¥ 70T MieTEos A v =t vew S ) amE
FEAd § Y g0 9 & Siar 7

X
X 2 shewds
v FE
X 4 ST

Ans

Question ID : 586180206

Q15 e wor TR F I¥ 2018 H =01 TEEHT T Fr TEATAT R
Ans XT h ﬁ

X 2 ZTerEE oTAT

X 3. 3gTH FIeHL

v 4\ Hga

Question ID : 586180210

Q16 ser T SET g R WA 3 1060 s i & o A npeifE R
A o Fdwe wfaf

X 2 sErae afafE

X 3 gurg wfafa

X 4 iR /R

Question ID : 586180217

¥ T $r T ¥

A X TR e
v 2 HEH
X 3 BodlgeTg

K4 FREs

Question ID : 586180216

Q18 The theory of ‘plate tectonics’ is associated with:

Ans




X 1. Drought
« 2. Earthquake

X 3. Flood
X 4. Cyclones

Question ID : 586180209

Q.19 1080 ¥ ZorF & WRT TIFT F FEEILT 30T F 91F T 0= qOer Afsa fer amogw s
FIEET FT 4T?

Ans X1 sfa-amenfa smetor
X 2 FeqEETEr & HATFER
X 2 X FAR

v 4 FE-TET TET

Question ID : 586180205

Q20w wmwadt 77 FATT W 1826 F FEAERS WU 7 AH 4T §W G F Bfeer ofFwwt &
T 9 #ET wem A

o e
X2 ygw & I
X 3 IET Fr Ffy
¢4Amﬁ'ﬁ

Question ID : 586180203

Section : Arithmetic Ability

4.53+1.046 +0.49 =?
X 1. 5,051
v 2 6081
X 3 5081
X 4 6.120

Ans

Question ID : 586180223

Q2 o Faw F 40 ot Fr st 3y 16 7% F) FEW F 10 @€ oI F wwr F @, W 15 7 @
F1 7w o ol ey st o T 7 oW giw aw o i sitwa g (=9t ) 32

Ans 110
v'2 13
Xs9
X 415




l Question ID : 586180230

o FUA TESF F TF F 9 TF O THR B GE To w8

I. 25% 3T 5%
1. 20% 3T 10%
. 15% 3T 15%

IEF F AT Fad H=oT AW Hid GT g
ans K1)

X 2 gsl T T HAT g

v

X 4l

Question ID : 586180232

Q.4  wwom F oy PRt 39 g # fE = w1 BEeT 5 i 97, TP w7 HE w1 O 8,
& 7uF B 5 O oA Tan #UF weeEe #er?

=T = fee = o s ot F wry e &

l. 28% Frome =@, TR 9 & for, @ AR W awgfE v ¥ i)
II. 28% W =, S 79 & B, ) ol W e v ¥ e
lIl. 28% T =, Uw A9 & v, @At awgf ww ¥ g

Ans (1-1
X 2 11l
X3l
X 4 gsh WHATT THTE T T ATHFET &

‘ Question ID : 586180235

Q.5 5 7 27
&t fRieil T UIAther 3N IeFehr HTHST - g1 FAGH et I
Ans y i
1. 52
v
e
2'_
X2y
o . B
N o3=
9
o 4
4. —
x 9

Question ID : 586180225

Q.6 3= w57 30 = F W AT wEA §) ST T W W A0 A F W v § A ¥ I
THewT 10 fEAT a5 F18 & € a7 #9 # fFaer w17 andr i Seen?
Ans 1
X1 —
12
. 11
X2 —=

12

Ja..i




Question ID : 586180237

Q.7 720,000 #r ofir ¥ vs R & 8% wy 37 Oy Fr 10% TrETw FY =S 2T @ U B s iy ofr
SHET WA 20 &1 9.5% & aF 8% # &X W FIuN & 7% U ] F) fFmer g

Ans  of 1. 5000
X 220,000
X 3 15,000
X 410,000

Question ID : 586180234

Q.8 = o Frget & 9T TEF 21 F A A & A 20% I gEAS A § 20% F oA IF = F
1 # Tohcdl SEgu a1 SAelr =ige?

Ans 1 3
<21
X35
a2

‘ Question ID : 586180231

Q.9 ezl wwam 3 wear 25% #r gfr s BT 25% F F Hr ) g B ¥ 20% # Ffr gF sk
T 20% $ F F ) wEw # e 3R/ 0 9 e e

e K 10% 3f
X2 20% 3=
X 3. 20% FHET
v 4 10% FAT

Question ID : 586180229

Q10 o wdharr & seefior g aret B FEAT AT IR A ATt A e 20 ¢ 4 F HeEw A oy ARy
witerr & fore 7amE s o suftue g T AT A A A wm e & g A 4 w6 o
a1 Fear AT AT S A 22 ¢ 3 @ | gfeT & ¥ # ey @ a9 o & "ed A
#

Ans X'1.180
X 2 162
v 3 189
X 4135

Question ID : 586180227

Q1 oz =7 i e =7 Swe AT ¥ IS o FAE T H B o e B T ¥ 8 an O F
T == 4 om FF &) wEa F IR (on FH) @

Ans X1, 20
X2 30
v': 40
X4 25




Question ID : 586180236

Q12 afy 12422 +32 + +1024 112 4122 =650, A 5+ 20+45+ +500+ 605+ 720 o ¥
qEY EE:

Ans 1. 2750
X 2 2500
v 3 3250
X 4 5000

Question ID : 586180221

Q.13 =fy 3 g¥= 4 wiEgwT 86 R F v YT F A FT T §, A 14 W # 10 Agww w7
o= AT FA?

e W12 R
K2 43 B
X3 86 fat
X 4 60 fa=t

Question ID : 586180238

Q.14 zfx o & fafesm Fma o7 25% #r g 23 ¥ v wEH # T350 F ama @ E A v ad
e et #w & @ #) sFEE B

Ans  of 11050
X 2 700
X 31400
X 4 1750

Question ID : 586180233

Q15 IfF a(a+b+0)?=1792;bla+b +¢)? = 1536; c(a+b+c)> =768 & b F AF FIT F?

Ans X116
X2 7
v 6
X 49

Question ID : 586180222

Q.16 e mfdrsr F wmeny o7 A9 w7 wew # IeaT

fea  |cad Aol | www Ao |d-dmw g v wee
T v Eicle: i i Srofr
(900 ®¥) | (500 ¥%) (500 @&) | (250 (150 @)
)
HEET | 850 480 480 240 145
FIEER | 840 400 450 230 120
qUER | 830 390 480 220 130
TwAT | 790 480 490 250 125
9Fa | 840 470 500 210 130

o T Aot o =9 & R fem del @ sEe S @ oA g@w @i S § A IEEn &
e vy 4oT T 797 & v e Ot F oRhRe s e aF & S S (d@ge oe) gem




ans  of 1. 90°
& 2.180°
X 3. 459
< 4 2700

Question ID : 586180240

Q.17 mqﬁmﬁwﬁ:ﬁwmﬁmmg mm,ww#ﬂaﬁﬂﬁ!ﬁsﬁr%ﬂﬁwﬂaaﬂ'
e S ST 3% St e e @ wE e ¥ 1 s an e e

Al 5
ns X']E
8

“2.5

19

N3

15

X4 a

Question ID : 586180224

Q18 oH iz 110 FFT B0 FFT A omer 400 m S BOm FRA T F R SF L1 T Hr 7w &
Ans X 1.100 m

<2120 m

V3128 m

<4150 m

Question ID : 586180239

Q19 ofr A 5 50% B F 75% ¥ 3K B, A 7 % &, @ x 7 7= (Reeaw i &) &
Ans X 1. 50

< 2 66

& 3. 51

v 67

Question ID : 586180228

Q.20 5 wfemr 4, 5, 8, 9 3 10 TFE F AT T TF T T | Feh G O T AT AT & S
& N g F UF Ty &9 a9

A W6 e e
X2 8 fA=e T
X3 4 fBee 918
X4 9 fAee 9

Question ID : 586180226

Section : General English

Q.1




Fill in the blank with the correct adjective form of the word given in the bracket.

Whatan  (astonish) news I heard this morning!
Ans o 1. astonishing

# 2. astonish

# 3. astonished

X 4 astonishment

Question ID : 586180244

Q.2 Fill in the blanks with the most appropriate option.

With 23 cauriages for up to 88 guests, lncluding two dining cars, two bars and lounge. Maharajas’ Express
has plenty of room to stretch out and relax.

Ans ?(1- ﬂ:le, a
/< 2. the, the
W 3 a, the
K 4 aa

Question ID : 586180247

Q.3  Fill in the blank with the most appropriate preposition.

Every year on 1** May, workers India join others around the world to mark May Day. also called Labour Day or
Inremational Workers' Day.

Ans x1. at
Xz. on
v 3 in

& 4 into

Question ID : 586180245

Q.4 Fill in the blank with the most appropriate option.

I still remember vividly that even during the mght when you could not see anything the window, I would still
keep on peeping out the window.

Ans x 1. at
& 2. beside
X 3 in
o 4. through

Question ID : 586180252

Q5 Select the most appropriate synonym of the underlined word.

The Indian government is trying to mitigate the sufferings of poor people.
Ans  of 1. Alleviate

& 2 Increase

/< 3. Aggravate

# 4 Enhance

Question ID : 586180255

Q.6




From the options given choose the correct meaning of the underlined idiom.

The crux of the matter is the prevention of a flood from reoccurring.

Ans

& 1. Unimportant point
& 2. Interesting story
& 3. Least interesting point

o 4 Critical point

Question ID : 586180242

Q.7 Select the option that can be used as a one-word substitute for the given group of words.

A person who lives by himself

Ans 1. Martyr
& 2. Orator
X 3. Stoic
v 4 Recluse

Question ID : 586180248

Q.8 select the option that can be used as a one-word substitute for the given group of words.

One who believes in fate
Ans 5 1. Veteran

X 2. Atheist
o' 3. Fatalist
& 4 Amateur

Question ID : 586180249

Q.9  Fill in the blank with the most appropriate option.

If you go to Kashmir, you have to go to Dal Lake and try the local food

Ans 1. for
v 2 around
X 3. besides
& 4 between

this area.

Question ID : 586180246

Q10 Fill in the blank with the correct form of the tense:

The accused the verdict of the jury with anxiety.
Ans 1. will been awaiting

X 2. will awaits
v 3. awaited
X 4 was awaits

Question ID : 586180254




Q.11 From the options given choose the correct meaning of the underlined idiom.

When yvou go through the novel, don’t forget to read between the lines.
Ans X 1. To read each and every word
« 2. To try to understand the hidden meaning

< 3. To skip pages and read fast

< 4 To try not to make an error

Question ID : 586180243

Q12 From the given options choose the correct collective noun of the underlined word:

A of ladies.

Ans «1' bEVY
& 2. band
/< 3. army
X 4 fleet

Question ID : 586180251

Q13 gelect the most appropriate synonym of the underlined word.

Alr, water and wind are all signs of the bounty of nature.
Ans X 1. Takeaways

X 2 Salary

X 3. Penalty

o 4 Largess

Question ID : 586180253

Q.14 From the given options choose the cotrect collective noun of the underlined word:

A of bullets.
Ans 1. brood

< 2. posse

W 3. volley

X 4 quiver

Question ID : 586180250

Q.15 From the options given choose the correct meaning of the underlined phrase.

He has been trving to shake off his cold.
Ans X 1. To pass off
& 2. To announce
& 3. To corrode
W 2 To get rid of




Question ID : 586180241

Comprehension:

Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable. but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully mamtamed. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later, the Estonia rolled
over and sank in a cold. stormy night. It went down so
quickly that most of those on board, caught in their dark.
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However, there were an unpleasant
number of questions about why the Estonia sank and why
$0 many survivors were men in the prime of life, while most
of the dead were women, children and the elderly.

SubQuestion No : 16

Q16 From the options below choose the one that means

Ans

the same as:

scramble
& 1. Sailed to be free
< 2 Lined up to be safe

o 3 Struggled to be safe
# 4 Traveled to be safe

Question ID : 586180260

Comprehension:




Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable, but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully maintained. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later, the Estonia rolled
over and sank in a cold, stormy night. It went down so
quickly that most of those on board, caught in their dark.
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard. only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However. there were an unpleasant
number of questions about why the Estonia sank and why
S0 many survivors were men in the prime of life, while most
of the dead were women, children and the elderly.

SubQuestion No : 17

Q17 Why did most of the people not get the chance to

Ans

save themselves?
/< 1. They got frightened and lost confidence.

« 2. They were caught in their cabins.
/< 3. They were not aware of the situation.

< 4 There were insufficient life boats.

Question ID : 586180258

Q.18

Comprehension:

Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable. but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully mamtamed. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later, the Estonia rolled
over and sank in a cold, stormy night. It went down so
quickly that most of those on board, caught in their dark.
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However, there were an unpleasant
number of questions about why the Estonia sank and why
$0 many survivors were men in the prime of life, while most
of the dead were women, children and the elderly.

SubQuestion No : 18




Ans

It was said that the passenger-and-car ferry Estonia in
the Baltic should have never sunk.

Among the following options which reason has not
been mentioned in the passage?

v 1. Crew was well trained.
& 2. It had been thoroughly inspected.

X 3. It was well designed.

X 4 It was carefully maintained.

Question ID : 586180257

Q.19

Ans

Comprehension:

Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable, but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully maintained. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later, the Estonia rolled
over and sank in a cold. stormy night. It went down so
quickly that most of those on board. caught in their dark,
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However. there were an unpleasant
number of questions about why the Estonia sank and why
$0 many survivors were men in the prime of life. while most
of the dead were women, children and the elderly.

SubQuestion No : 19

There were number of unpleasant questions that
persisted.

Which among the options was not the one mentioned
in the paragraph?

X 1. Why most of the people who survived were men?

X2 Why most of the people who died were women, old
and children?

+ 3 Why Estonia was not carefully maintained?

/< 4. Why Estonia sank?

Question ID : 586180261

Comprehension:




Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable, but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully maintamed. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later, the Estonia rolled
over and sank in a cold. stormy night. It went down so
quickly that most of those on board, caught in their dark.
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However, there were an unpleasant
number of questions about why the Estonia sank and why
$0 many survivors were men in the prime of life, while most
of the dead were women, children and the elderly.

SubQuestion No : 20
Q20 What is the meaning of hypothermia?

Ans

< 1. Blood poisoning
& 2. Fear of water
X 3. Loss of consciousness

' 4 Unusual fall of body temperature

Question ID : 586180259

¥ ey weE F RET o §
Ans (‘IW

< 2. 39ehd

X 3. pH0T

X4 gaaem

‘ Question ID : 586180264

W rgfer oreg frw aeg w R o 37
g

X 2 3TiFd

v wgfed

P rac

Question ID : 586180275




W srrare) A% mrEEAT o g S R 0
Are X siftrToT FReE

X 2 TFEEe FE

X 3. HIE FRF

v i gEs SR

‘ Question ID : 586180270

¥ ez F T T F TS BT A F, A W A FEd 82
Ans xl m'ﬂ.
v ag

X 3 ueEy

X 4 T

Question ID : 586180268

*° Fa @ T=T FdE=T Y 2
Ans X 1. G AN Ede e A
X2 T R e /AT gan
v o T T T2l &
X 4 HTSIher Hig AGr Gera

‘ Question ID : 586180271

¥ g e # FF-ar 3T 92
s ) G

v

X g

XK

‘ Question ID : 586180266

7 e 9Ted #T GOTUATEN AeE 4T i
Ans x.lﬁ_élﬂ_

X2z

X 3 arhe

W 4 TR

Question ID : 586180262




¥ gEAr o W ATEET ol
Ans x.lar’:na_{

X 2 srafer

v IR

X 4 3qET

‘ Question ID : 586180263

Q.9

Jey T TS e FiA T AL 87
Ans x-lsa'r

X 2 efrdr

(3.3@;”-

X 4 34t

Question ID : 586180274

Q.10

‘HIATT 2Meg T FEH e &
"X wegta
x - g
V'3 AT
X 4 aeerfa

‘ Question ID : 586180276

O memfY o W TE TR-ete w R
Ans 5 1. Tq + Afa
X2\ + A
Ao+ AT
v gg + #Afa
‘ Question ID : 586180265
Q.12

T ok YE FT H AT

v 1. TS @ 0T Bl T T g
X 2 WIEE F 0T gl T TR g

X 3 TEF B IO B FT R B
X 4 TTF FT A0 B F HEE gl

Ans

‘ Question ID : 586180272




Q.13

Ty oo ¥ Fi9 @1 gAE &
Ans x.lm

X 2 yegdrara

5 SEEIE

X 4 gy

Question ID : 586180267

O Y ST ggEEET O T
Ans 5 1. dlelall

< 2 gIfEer
X 3 HTeHSAT
v 3rRaT

Question ID : 586180273

U Rrorwor e TR F A B2
Ans xl q_LIrEr

<2 |

Vs T

X4 AT

Question ID : 586180269

Comprehension:




fAeafaf@a =T #7 9ga 38% Tal 3cal ey |

“FfAh el H oleg HHE A o TRy afEae
gl

SUY IS oreg §ga HIWF 37 AT F gAY
HTST T 39T 5 91T 1900 F S SIATERES
FeT H TcHHA U] FT JAFT §SaT IAT| SHF
A A WEFide 3cd1d, FEATATS, FAHATS
TUT ST W T T IRUTAS: TET F e
50sR 8ff TWrpafass & Tar| 1936 * g
FIfoEmer e & Al O T I
&Y T aomEe: A ek, ATafoE e,
HETaL-AhlFadr @31 el & 3T T o
ISR &F g1 TR o BE 7 gaa &9
HAF HRTET ASHIATT 0| TART Ae-THg
THE BT Far )’

SubQuestion No : 16
a1 Fyfer w1 # R s & Faw aiEes ge
Ans X1 TESY emeT T 9T A g T

v 2 & % eg-EHg H ST % g AT A0

K 3. TEET ST F gorear e g e

X o T&&r s TEgpa-HEa g Tor TR

‘ Question ID : 586180278

Comprehension:




Q.17

Ans

fAeafaf@a =T #7 9ga 38% Tal 3cal ey |

“HIYferr T A oeg HWHg H o R aREaa
gul

$UT ST oeg sgd MO I AW F gAY
HTST T 39T s 91T 1900 F S SIATERES
T H TcHH U] FHT FART SSdT AT SHF
A A WEpiae 3c01d, FEATATS, FAHATS
TUT ST W T oT| IRONAS: TET F U
50sR 8ff TWrpafass & Tar| 1936 * g
FIfoETEr e & Al 9 T I
&Y T aomEe: A ek, ATafoE e,
HETa- Al TS ol & 3T Toled ol
ISR &F g1 TR o BE 7 gaa &9
HAF HSET ASHIATT 0| TART ec-THg
THE BT Far )’

SubQuestion No : 17

Fremram & A o e A
e

X 1. TIEpiae ScuT=arer FERumT =

v 2 gErfaETer faamRumr &

X 3 TEaEaEE FERuw &

X 4 §EH WATS T HA WA HT @F=unr &

Question ID : 586180280

Comprehension:




Q.18

Ans

fAeafaf@a =T #7 9ga 38% Tal 3cal ey |

“FfAh el H oleg HHE A o TRy afEae
gl

SUY IS oreg §ga HIWF 37 AT F gAY
HTST T 39T 5 91T 1900 F S SIATERES
e H FcUH oMl T AT §aaT AT $HH
A A WEFide 3cd1d, FEATATS, FAHATS
TUT ST W T T IRUTAS: TET F e
HUER off TEFafass & 3Tl 1936 + aIg
FIfoEmer e & Al O T I
=T fear afomEe: T oeg, aTEfeE e,
HETaL-AhlFadr @31 el & 3T T o
ISR &F g1 TR o BE 7 gaa &9
HAF HRTET ASHIATT 0| TART Ae-THg
THE BT Far )’

SubQuestion No : 18

HET F 91 Bar A F F=4r 9fiEas o
faw?

v 1 qIeNe TF AT 9eE HUATT AT
X 2. HETA-AIIFdaier A6 & TS|

X3 FITEAT ATV F AT FT HUAYT T

X 4 AT eregl WX HTUw a e T I

Question ID : 586180282

Comprehension:




fafof@a g # e 38F e Sea¥ Sifad |

“Fryfers wIe A oeg wHE H o Ry oREaa
gul

$UT ST oeg sgd MO I AW F gAY
SITST &7 39T §=7 1T 1900 & &1 SIATERr
T H TcHH U] FHT FART SSdT AT SHF
Ao H HEpiae 3cd1d, FEATANS, FAHAS
TUT ST W T oT| IRONAS: TET F U
HUSR off TEFafass & a7l 1936 + a5
FIfoETEr e & Al 9 T I
FY feaT| IRUTHT: AHT A, Ao e,
HETa- AT TS ol & 3T Toled ool
HTSAET & Flc TN e By & s9a o)
HAF ST eSHIAT 7| gANT ec-Tg
THE BT Far )’

SubQuestion No : 19
O GEfeem & oeg HSR H F4T TREdd eEs
fear:
X1 ereE-sTER BE-wE TRfaE &
X 2 gTeg-H=Y HT=Teres &1 T
K 3. 9reE-HSIT 3T forss &
v 4 2T BN HEFHISS g I

Question ID : 586180281

Comprehension:




AT = FT 9SHT 3TSF TET 3ca? ey |

“syfas w1 F o TAE A off By oREda
gul
gwai?)ﬁrals—dag?rmmmw*m
STTST ST 3{er &7 1T| 1900 F &I TTATIET
FeT H TcHH Ul FT AT g7 AT THF
T # TEFiae 3004, FERTAS, FAEATH
TUT ST T FHT AT| TRUNHAS: T F e
sUsR 8 Wrpafass g T am| 1936 & s
FEIfErEr F=ERuT F AR 9N F AT
FT Tar ofomHEa: TrAT oreg, =TT 9,
HETa-ARIFaar @S Selr & 39T Sl o
HTSET & 91 TR e 7 # saa o+
HAF HRTSET ASHIATT 0| FART ec-THg
HHE gar =er )’

SubQuestion No : 20
V% oraTardr FeT-gee ¥ & s F w4
K T st S E S
X 2 3G-TIRET Jo &l 7Y
v o FeOd UREETEET U & TR
X o st g g o

Question ID : 586180279

Q.1 =fy v e #1 d=we 35 3 FE ¥ AT gF Brww W =BRE (2, -6), (5, 4) T (k. 4), A
Kk F AT FE T

Ans X1 —12,-2
X212
W3 12,-2
X4 2

‘ Question ID : 586180295

Q2 7et [] denote the greatest integer function and f(x) = [tan®x]. Then:

Ans 1. lim f(x) does not exist x — 0




« 2. f{x) is continuous at x = 0
X 3. f(x) is not differentiable atx =0
X4 f(0)=1

Question ID : 586180301

93 1t is given that, tan™*1 4 tan™'2 + tan~'x = 1. Then x is equal to:

Ans J1_ 3
X2 =
2

3.
2

X3

Question ID : 586180288

Q.4 Let A be a square matrix of order 3 * 3 and k be a non-zero scalar, then | kA| is equal to:
At X 2| A

X2 3k|Al

X3 k|A|

Vi3 A

Question ID : 586180296

@5 Find the values of a and b from the following equation:

(2(a+1} -3 )= 4

11 40+3)/) " U1 24
Ans X 1.a=2,b=3
v2a=1b=3
& s a=], b=4
X4 a=2b=4
Question ID : 586180290
e Iff{xj—[lxlcc's(E + 9x? ifx # 0 then f is continuous if the value of k is:
- = ifx = 07 ' )
Ans ¢1_ 0
<23
K39
K46

Question ID : 586180299

Q.7




Ane X1 Faer (b) BT &
X 2 &Il (a) T &
v (b) 3T (d) et me #

X 4 Fae (c) HT &

TR () =|x—2] F BT x =2 AT H(2)=0, ¥ I =T FUAT FT HFAT FL

(
(
(
(

a) f x =2 W IETFANT §
b) fx = 2 9T HIFAAT FGT &
¢) £x = 2 9 Tad 7@ §

d fx=2 WHIA &

Question ID : 586180302

Q8 4 kg s, 3 kg A T 2 kg TET H AT T60 ¥ 2 kg WS, 4 kg T AT 6 kg T H A
T90 #1 6 kg =T, 2 kg M M 3 kg TIF Fr A T 70 ) A T, F v = Fr e F

HHT FF A
Ans X'1.3, 5, 8
X258 2
X385 4
v:+5 8 8
Question ID : 586180297
Q.9

Ans

8 0 2 -2
:zﬁrA=(4 —2)3ﬂ13=(4 2

3 6 -5 1
& A AT F0
[—6 10
x 1 3( 12 14)
31 =7
[(—6 —10
2 E( 12 14 )
431 =7
6 —10
X g( 12 14)
31 7
& 1B
x4 é( 12 14)
31 7

).ﬂ‘a’rmm+35=snﬂﬁ§qmmﬁﬁwc

Question ID : 586180289

Q10 ofx A 3 B s & 3T & @afEg Aww & A AB - BA g T
X e M

v s aEa #feew

X s gEfag Afcew
X+ mHTE At




Question ID : 586180294

Q.11

E— sin™! (_?1)) FT A AT FL

Ans x1_ 05
X 21/3
v 1
X 4 025
‘/ Question ID : 586180287
@12 mafeRIoT tan~! 2x + tan~! 3x = nw/4 T g BN
Ans “1_ ¥ = lfﬁ
X2x=1/4
K3 x =-1
Xax=1
Question ID : 586180286
Q13 A AT N — Y B 3r N F T x & BT () = 40 + 3 F TRevia & omar &, s=9fF

Y={ €N y=4de+ 350 F e e N v Rl & f 1 sgoem grom

Ans X1 f1(x) = (x +3)/4
X2 f1(x)=(x—4)/3
v i) =(x—3)/4
Ko fIx)=(x+4)/3
‘/ Question ID : 586180285
ot 01 2
AfeFg A = (1 2 3) F A EH.
3 1 1
Ans

" 1 =1 1
a =g 1

g1 1L 1
”< 2 5(—8 6 —2)
5 3 1

5 -3 1

Question ID : 586180291

Q.15




oM 3 & sremEr G wwee agie f A9 et & FEw 10em ¥ avEr @ S wwew a9
F HIF HUFIA g I N

Ans o1 753 em?
X 2 73+/5 cm?
X 3 7143 cm?
X 4. 85+/3 cm?

Question ID : 586180293

Q16 fli3| o mag Eaxr P AR f Wi c 3t 1 (2) = 10 ¥ Bw =g hasg A= 3 &, 3r f (32)
o & agat g

Ans 1 [F(D) + £(3)1/3
X 2 20
V'3 10
X4 8

Question ID : 586180300

Q17 afe A %51 2 1 & gohe AfEW § A (A o & @ fhes awew g
Ans 1.0

X2

W 1A

Xa|A|

Question ID : 586180298

Q.18 z= #Af3w R mit amfs wwst & ¥ & BT #a § R [« ¥ 7 a7 aver dwwas g
Fear i B e ¥ e O Fem wee o R — RO# L) = 1] & TR B s E
R&EAM: &

X1 FF-gaT W AA-E 4T
X 2 FA-g-a 3R A el
Vo FF-gad AR HE-g = AG

X o HF-E W IA-g-a 4T

Ans

‘ Question ID : 586180283

Q19 Fz A= {1, 2 3, 4) ¥ Faw R &1 fnwy v & ofenfim fr s &L R = (1, 2), (2, 2), (1. 1),
(4.4), (1, 3), (3, 3), (3, 2} o R & AF I

e X0 ofaed ik oEfde AR Tes aE
X 2 g i e ot afaed 78T
v 5 gfaed A meae afee TafEg T
X ¢ gEadt ey

‘ Question ID : 586180284




Q20 g gfRfee 0 7 1 F @rer 35T 3 x 3 F Tsfr Genfag Ay F g o
Ans - X 1.18

X 2 81

X3 27

v 512

Question ID : 586180292

Section : Discipline2

Q.1
ﬁ+é F1 9i-egced folF = & STaR gl
S QI SICTE R P
3 2
W2 §x3fl’~+2@+c
X 3. §x1f3+2ﬁ+c

x4 §x3fz+%y’§+ c

‘ Question ID : 586180312

Q2 o ofieww & fig | % y = 2 + 7 & FF (RFm) AR wweT @) & a9 & @
A X174

X 22/3

X 33/+5

v 2745

‘ Question ID : 586180305

00 =3 —x| +[2+ x|+ |5 — x| F FYAIT AH g

Ans X110
X238
Xs30
7

Question ID : 586180308

Q4 =mmy——6x'+9x+4,F0=x <5 F AT Tor=w (&) =1 yftmmw emma o F Ao g & &
afFFs & FUET @F T

Ans o1 g
<24
X3 2
K43

Question ID : 586180309




QS5 =g Fw (B HEY) F vF HEwAE WHET F WD f # wwen T (anfdedh wewe) #
e gem:

ans  of g
K23
K32
<40

‘ Question ID : 586180318

U e s W a i R (@R oRaTRE @ W A @ (42) 4 cos () - 0

MW aTET = 2, Tl aftenRE adt
X2 3T =2 fFahr=2
X3 ST = 4, B = 1
X4 T = 2, e = 1

‘ Question ID : 586180316

Q7 x — acost, y = bsint 3 t=n/4 FF W Adgea & Fa-doie & warE @M
e Kb/

X2b

v a/\2

X4 a

Question ID : 586180304

Q8 fRri-2i+2j43kb--i+2j+k M i-i+j+ o0kt AT ET AT E I AD, i F
HHST B ATA ST He g

Ans 1
v2g
K35
X4 6

Question ID : 586180320

Q.9 ww e aftw #r 3T 4 km werer ¥, o B TE seewgd 3R 30° T 9T 3 km AT & sl
T I g A are ¥ st fig @ 73 w1 S aem
Ans XL__S" 3.
2

I—T]

v 21425

2

Question ID : 586180321




Q10 3, X@T y = x, 3R FF 1 +y? = 32 AR WA TS TR F AT T AT F:
Ans “1_ A1

<28
X 3 4(n+2)
X 4 4(m— 2)

Question ID : 586180313

Q11 oF &5 &, gew= oy 97 5% F1 W F 797 FT F 94T §1 21000 F F @ & T af (7
T

Ans X 1. 20log. 4
X 2 20/log,.2
X 3 (log.2)/20
o 2 20log.2

Question ID : 586180319

Q.12 ax?—b WExl< 1

:ﬁmmf(ﬂ={_“xl Rl > 1

HEFaAT & A a dT b F A= Fa #hE

Ans X1. 1]_1
2 T
V3 1/2, 3/2
X4 1/2,1/3

Question ID : 586180303

Q.13 faedr o f 1 QO R A S P B IO fx) — 1244 — 6x12,3— 1 < x < 1, winARE BT
ST §, 5E% s g

Ans K118
K20
<36
W 1 —9/4

Question ID : 586180310

Q14 omeirr T (anfiedr Flerde) ‘2’ HR b B g g y = e*(acos x +bsinx)F Tty
Sl e T A THIOT &
Ans

dzy dy
P -
x = +2}'—ﬂ'

K2 L2 4% i9y—0

e .

N

Question ID : 586180317

Q.15




Ans

xM* @ HHaH HIE BT
X1 e

W2 plfe

X5 (1/e)°

X4 l/e

‘ Question ID : 586180306

Q.16

Ans

ar IEET y=x2 3T yi=x ¥ Oy &% FT &a9%a g
X 1. 4/3

v 2 1/3

X3 1

X 4 23

Question ID : 586180314

Q.17

Ans

I f(x) = 22 & ar fix) g

cx+d
K. J1feaH
v o fasifea @1 w5 g 7@
K3 FH A FH

X 4 TF Ageaqur fig

‘ Question ID : 586180307

Q.18

Ans

A FT 2 +y>=4 3T (x—2)2+y> =4 ¥ Y &7 F1 &96a7 g
- AR,

3

X2 34

3
v Z—2v3
X a —d§+-‘;—“

Question ID : 586180315




1
4, iy
x Vs log

@-)e(f3)les

Question ID : 586180311

Q.20 nﬁa}mﬁ}_;_{tll’zil‘f=i? ;ﬁrig%‘=3{§=i;jwwxmqr§$pﬂmm
Ans X 1. 67/12

X 2 48/23

< 3. 78/21

v 4 70111

Question ID : 586180322

Section : Discipline3

Q.1  Which of the following is used to modify and customise everything Windows does?
Ans o 1. Control Panel
X 2. Windows Explorer

# 3. Recycle Bin
2 4. My Computer

Question ID : 586180333

Q.2 Which of the following is a numeric-data analysis tool that allows us to create a kind of computerised ledger?
Ans

& 1. Word processing software
& 2. Adware

X 3. Utility software

o 2. Spreadsheet software

Question ID : 586180332

Q3w F ¥ Fwd oF W 3w s @ ¥ it Foer R ¥ st F fafe s § st

Are X ddrarE
X 2 ofterree TiFeaa
v 3 rew iR
X4 BHIIT

Question ID : 586180331

Q4 A speech synthesizer converts into

Ans 1. text information, images
& 2. spoken sentences. images
X 3. spoken sentences. text information

o 4 text information, spoken sentences




Question ID : 586180328

Q5  jsused for sending emails, whereas
Ans 1. HTTP, SMTP

X 2 SMTP, HTTPS

o 2 SMTP, POP

/& 4 POP, SMTP

is used for receiving emails.

Question ID : 586180338

@6  isthe most popular soft-copy output device used today.
Ans X 1. Plotter

' 2. Monitor

& 3. Scanner

& 4. Printer

Question ID : 586180327

Q.7 zFw & fe wus T ¥ T
() TEIME TR ABFWCC TS TEAES T FACFF TET TEH AT B

(ii) FrEwETE FF grares # g ey avwt vew O & ot o7 vy annfh deve § meg
T £

Ars K1 (i) - T, (i) - IToId
X2 (i) - e, (i) - WY
X2 (i) - e, (i) - wE
Ve (i) - |8, (i) - TTera

Question ID : 586180342

Q.8 E13B, MICR fags zar wafe 9gse Sy de §1 gud 0O W O T o 3T Pdw ey
g 2l
Ans 5 1 16
X28
v 4
X4 32

Question ID : 586180326

W siftemer A% fsT (ITHENR (OMR)) # foF e &7 =1 T &
A XK. i R RaEE

v 2 TR REEw

X s carsfeer A g BaEw

X + Bae-3maia RBaEw

Question ID : 586180325




Q.10

Ans

sy sl et & e fona & @ #ia sage Reww aer s 2
X 1. FgEsE

X 2 HITHNT (OMR)

X 3 BfEerst

o ATH
Question ID : 586180324
Q.11 wermrmsi-ad FoyeT (ABC) seaw wierms F fw 7 3 =w F B T TR
T £l
Ans

X 1. S aferen, it
V2 S e, SR
X o s, e
X+ gitreed, Sfted

‘ Question ID : 586180323

Q.12

Ans

F8 A9 AfaAss 9ea W BFes g aF 8T st [&@er # 4w g 87

(i) F=ET BIesT R 390y T 8, fheg 7@ viea RE 7@ w® S
(ii) =TT BIesT ST FlelvH gl TFFAR A AT a1 AT &l

Xoarar (i) & g (i)
v 2 (i) 3T (i) =t
X 3 Faer (i)

X 4 Fae (i)

Question ID : 586180335

Q.13

Ans

gred Rk, v Tst # ey §) fvw o s geE & onmw i g
W T
X 2 grers
X 3. gfyfer
X 4 =T

‘ Question ID : 586180329

Q.14

Ans

ST & I A T 7 ¥ Sl a1 5uF e 27

v 1. g F TR USA H# o3e @9 & 9
X 2. SEIAT AP F Hcaw T FgorraT g

X 5 eI AR Saee gAE 79 g

x 4




ST FEGE # T df¥aE Aok ¢S Biowe OF @1 3T ¥ 93 @

Question ID : 586180337

Q.15 mEwmwe 3% 2016 ¥ g0¢ ¥= & oo & @ w7 @ ey, mivew gfaw, oiw smam, T sRE
Sfed Mithw =F F 99 3@ HN AHESH TE I FAT 57

Ans X1. Eﬂé.'
X2 g
X3 gEame
v EmETE

‘ Question ID : 586180341

Q16 S F ¥ BE Fr F v T 39 (FDD) & sfasern fmar?

SRRVRRES i)

& 2. Toer
X s ga
X 4 FTSHETFE

Question ID : 586180330

Q17 s mmrmm iR i T TRa 36 g @, A TE I g A
Ans - X 1.0.75

<2 025

X3 1

v+ 05

Question ID : 586180340

Q18 spme S 22016 F AT CEART AN W, Bolcc S sy @ar &
Ans X 1.10

v 11

X312

X 414

Question ID : 586180339

Q.19 is a software application that enables a user to locate and view pages on a website.
Ans 1. Hypertext

& 2. Adware

X 3 URL

o 4 Web browser

Question ID : 586180336

Q20 fEw7 T F wEE w7 A § ik @ I et et w s
U fRar ST




Question ID : 586180334

Section : Discipline4

Q.1

Ans

e 7 ¥ oy JeaF ot F Tois weew (B v frwemr By @ § anie R A &
Tawherar, 9T Aeas T THIET F 87

v 1 T
K2 985
X3 'R
<4 T

‘ Question ID : 586180358

Ans

e & ¥ #i9 v weif@Ae aur The A arer (RETa 9eg) Uieede 87
X . E9F

o2 AT

X 3 FeAa
X 4 T

‘ Question ID : 586180360

Q.3

Ans

T & © #i9, 0S| F2a% Asa Fr TFEH-UF oy 27
v . iR oTT 3T e o

X 2 goiderT oY 3t B oo

X 3 ofteree WY AT =T i ow

K 4 gt o 3 =T B s

‘ Question ID : 586180356

Q.4

o= W f3=r FT

(i) XOR 3
(i) NOR #e
(i) NAND ¥z
(iv) XNOR 3

T ow Twet 7 ¥ #i, IRene Tew Awia & 87




e X1 Fae (i) 3R (iv)
v o e (i) 3T (i)
X 5 Faer (i) 3T (iv)
X 4 e (i), (i), 3 (i)

Question ID : 586180353

Q5 R & ¥ FiF T FuT e

(i) AP SareATse # Crl+N gast X 39 SSiews & vH 7% FSs S I )
(i) FEFETe gar=Ee 2016 F USie FF NEE (PDF) ¥ w7 3F wasT =1 TFar

v Fae (i) T E

X 2 Faer (i) T T &

X3 (i) 3T (i) = TeraT §
X4 F@rar (i) ar & (i) TIaT &

Ans

Question ID : 586180348

Q6 mrmrE TEE TR A WA T e s T v v o e e w R A
T WEE g 2?

Ans X1 B&&&&
X 2 $555%

V'3 i
x4. AAANA

‘ Question ID : 586180347

Q7 G # 7 Fi5 o seRw TR § BEw ohwm sty (RS RS s S e e
30T = 272

K aEd el (PR ) F A NULL 787 & Feha)
> 2
afadas ot (FSsd 1) 1 AT NULL F&F 8 Fha

W 3
Srufde Fir (ISAY @) F AT NULL ST 8 Jehar|

X 1 Ceithe ufEeieq & A 3foohe Ad &1 Feharl

‘ Question ID : 586180362

Q8 N AzH F Y TF By JeaF # o B HOFIH T g g
Ans X 1. N(N-1)

X 2 N2

v 3 N(N-1)/2

X 4N




l Question ID : 586180357

Q9 12t & ofFg ik 7 § e F TR R AFAETE TS W F O TG FGT TR
Ans X1 G$12%
X2 G12
V'3 $G512
K 4 $GS1$2
"’ Question ID : 586180343
Y e FEREEE T B H A e gem?
=SUM(1, 2)"2
Ans XT 0
X25
& 3 Error
VER"
"’ Question ID : 586180344
U iy A, B e wife T ¥ TAYE & A $EHT HIEIE FT A
de: A 3R B #F A AR B & 3 Wehd & &
as X1 AB + AR
X2 A+B
v : AB + AB’
X4 (A + By
"’ Question ID : 586180355
012 Foger were Aifzer Ragdr # wesl #, 9g 3 (WORM) &1 319 &
s X1 ge s §F AF (Write Or Read Memory)
v 2 yrzz 37 fiT A (Write Once Read Many)
& 3. e 3ET & 78 (Write Over Read Memory)
X + Ee AT P2 FAr (Write On Read Many)
"’ Question ID : 586180352
" CPU anfde=R % " #, CISC & I &1 Far 82
Ans

X 1. FFEFT FEEHNT HE FEogied
Vo FFFE FECERE T HE




X o FFEEE FTERH VT FOUH
X 4 FHFETES TTETRNE BT FPEL

Question ID : 586180349

Q14 e A R (A B, C) W Few =% aff A > B 3k B > ¢, R w froifm & s
FrfraTe (T Ritde) & A w4 @ B9 59 & Aw o owwa 7

Ans  of 1 A
X228
X 3 BC
X4C

‘ Question ID : 586180359

W drevTer % "el #, HTTPS &1 1 a1 & &2
A X1 grERRETE TEW YRS §ied

X 2 FEREFEE TEHYUS Were Flag

v 5. ZIEUTHES TTHWT S QT

X 4 gIEUEFES TIEIAYA Qe Bed

‘ Question ID : 586180351

V1 rrEwTe tHAE F Y A T # ¥ Sl @1 wue e B2
" n%ﬁwﬂm,mwﬁﬁmmwaﬁ:ﬁrm%l
ﬂ%ﬁﬁmﬁmﬁmmaﬁmml
n%ﬁwmﬁmﬁmﬁmmml
H?;;ﬁwﬁmwﬁﬁ?mmﬁﬁaﬁzﬁmﬁl

‘ Question ID : 586180361

Q7 S F Y wE T e Tl
(i) ATSHIATFE TFhe THUE H 9Fadl S T 3T B gl
(il) ATSFIATTT THEN Tl H ToHr e AfyEg @
e X0 ) 3 (i) e e R
X2 @ ar (i) ar & (i) 7 §
V' Fad (i) FET §
K4 Fae () wEr




Question ID : 586180346

Q.18

it ¥ F T & @ 5 daew F o f GRiRE, s B SRR fr e T

Ans X 1. AND, NAND
X 2. XOR, XNOR
v 3 AND, OR
X 4 OR, NOR
"’ Question ID : 586180354
Q.19

e AEFrETe Tl GERE I B # B dog F4 gem?

=SUM(SUM(1, 2, 3), 4, 5)

Ans (1. 15
& 2 Error
X336
X 49
‘ Question ID : 586180345
Q.20

Ans

CPU =1f3 #1991 $1% & TesT H, 9 GFLOPS = ¥ &
X 1. e freEs TaEe ATORE W OFE

v 2 3fET FefdeT e HRE W BE

X 5. IETE FElfEeT SAEE HTUH W THS

X 4 IEIS EIEE HIAT W FHS

‘ Question ID : 586180350

Section : Discipline5

Q.1

Ans

TF T TS F I A, EDM Fr =afSer 3k ofedw & e £ awh & (EDM - Rregagedm
gir AT T

X Ed Al #0 = & R
Xz.aﬁﬁﬁmmﬁimﬁgﬁﬁmmﬁkﬁv
Vi as T e i a0 v & v

X4 ZrEE Al w1 aa F R

‘ Question ID : 586180367

Q.2

Ans

oF FEeX F UF AN F @ I E1 Pow agyEl Foamw 9T 3w 9, 99, T o ofwed
3T AEAT § e # 7 TfEar wAw: 0.3, 0.2, 0.1 Y 04 F| W I oA, 99 AW TR F
HAT & A 5AF & € W #T FiEeear @A 14, 103, 3 112 & 9fFT 3R a9F JiEEd § 6
T & A &, & 7 @ 1 ow A & ¥ g 1 s I W e iy Wi W w0

v 1. 0.50




X 2025
& 3 0.64
# 4 0.38

‘ Question ID : 586180376

3 Srew weve i Reivart F gy &, 7o Fua # BAegg FC
Ans & 1
IR ZART FAfESe feen &9 Tene RefEeaw® & W= @ §

X 2 aae Ied gl AT
v 3 T AfEse =t F B Iuaer 76 & 31 g
X 4 TEETOd W8T Ig9T

‘ Question ID : 586180363

Q4 2y FATT O el 9T ST FEATHT @ AT X g1 X # =T g@em
Ans X 1. 7.0010

v 2 5.8330

X 3. 54.833

X 4 27.417

Question ID : 586180377

Q5 oF e s@E & A9 30 mo & FAT ¥ By S 10 em 3P o ofn s Ay s Fr oA
300 m ¥ @ & IEARF FIFT A HI| (m? H)

X (3—”1)2 x 3002

Ans

Question ID : 586180364

Q.6 ox g T Trew RoE ¥ F F O, v wHEESE w5 A §1 v 7§ e S e
HEAT FAEEA &

e o FffEr sl st
X 2 g it st
X s afeer st arefesr
X 4 Hefer 3R g

Question ID : 586180371

Q.7 e w11 5 F R o dew vow A, B e w e wemes B ganr wea B oo
TFAT &




Ans

K. e AT

X 2 Frafsiat (COGO)
X 3 T BT TitasRee
v R SefAeA

Question ID : 586180369

Q.8

e & ¥ Fi7 Frem R, AT 32 F W 39 R = F B s & o {2

ans X1 F12
X 2 F5
X s F6
v i F7
Question ID : 586180381
Q9 oF o Fr & Aw der s ¥ o gw dhvw w et domnd & oE9 O 6 A ¥ ogw oaw &

Ans

FENFT TOHT 77 § T TET 4 FH T FF TF AT TR HOA?
<102
<208
<305
v 04

Question ID : 586180375

Q.10

Ans

o=t & ¥ Fi T HAS e AEHETT 55 F 5§ TReEew F O 359 G o 82
v 1. Shift + F3

& 2 Shift + F2

X3 Ctrl + F3

<4 Alt + F3

Question ID : 586180380

Q.11

Ans

FieoT F # e BT & 3R WEN ¥ v g ¢ Arefafie Reedt & @, dew mew
I & FeOE ale Sied w

1.
w{%qﬂtmmamm,mmmaﬂmﬁ%ﬁ?wﬁﬁwwﬁmm%i
> 2
Ter TAT F §5eT AT T I TS 1T F@ A Ferem Sar g
X 3
geaIs g ¥ Uge, BE TF, G F Hegieg 9 9T S B
p
T TS & TN ok el T & FIC TW FNT FF & 97 @ J1r gl

‘ Question ID : 586180372

Q.12

Ans

A & @ i, 3 w7 @ Bl @Ry 9enE # d@efia a8 s 32

X1 o




v g ey
X 3 g
X 4 Iy

Question ID : 586180378

Q.13 = wu=r (31, $2, $3) T 2ew EE FEEU F mEw ¥ BU av §) w@w sy= (@) 7 e #71
S1: &R we & IR w7 FFE F FWHOT A FEFA B

s2: & gl @ Jrdt e 3 ok e & g Fr swe A Aefaw B s g
S3: & MIve AU # HéFAl, ToH W A9 & &F7 g1 2

Ans X1 FFer ST
v 52 3T 53
X 3 Faer 82
<4 31 3k S3

‘ Question ID : 586180368

Q14 Fzw wrem wieor F e #, v oftww 9TE, B SEam 2 W figst aw S g
30T B2 HOERIE T3 Wi F T S99 ST ST GSdT £, 98 FEeaT 8

Ans (1ﬂ_mm
X 2 grer JeUe Jumel
X BEE w1
X 4 Im3E TEIA

‘ Question ID : 586180366

Q15 1 em = 2 km =1 77T, v foreTw BeT & 9 F Egen s gem

Ans - X 1.1 : 2000
v 2.1 : 200000
# 31 : 20000
# 41 : 2000000

‘ Question ID : 586180365

Q16 g govrr # ST T AR T sERVT R gAY TEeRE w9 & fr o b
e X1 sitRewe caie 3T AR FE

X 2 ofEs v v B

X 5. Hifcesrs Fifoded R Juaer Rasw

v grEr FemeT AR AR @S

‘ Question ID : 586180370

Q17 o Y@r ®AF =31+ 2j— k+A(1+ 2]+ 20 3R = 51— 2j— 0k +u(3i+ 2j + 6k) F @ F ¢ For
g

Ans X 1. cos™1(3/7)




v 2 cos™1(19/21)
X 3 cos™1(17/21)
X 4 cos™1(13/21)

Question ID : 586180373

Q.18 Bwm & & w7 71 FF wiwe, e Rew § o eRew F B s5an G e &7

Ans

X1 At +Ctl +D
Xz.ﬁ:’lﬁ?{éﬁ:ﬁ'+f‘i
A3 At + Ctrl + H
v faEs el + D

Question ID : 586180382

Q.19

Ans

Fa0 & e Fu9 TEr § HY=ST Tl

(i) =ETser Wt AARH, UF CFSFLLAS e ¥ I3 B 2

(i) IrIRg, A=y G & far 347 e geRanl
X1 (i) - Fmér, (i) - T
V2 (i) - 7, (i) - TEr
X 3 (i) - T4, (i) - IS
X 4 (i) - Terd, (i) - TEr

Question ID : 586180379

Q.20 o T e At dv F semEE AT ) Aew F ¥aw wr Rwr s & R e A o 1 92 sk
AR BRIMFTFAINT T s aF A sFa s R mig A w3 o 3w mE B
W1 9 W FAT o § 9 AeE W N ¥ T17.50 7 gemer sk s W 7.00 9 S @
TAE FAAT §1 T T B # afmaw 12 ® ww a9 & des w1 v B e

Ans

UHET 1 35T ThAT ST AT A 98 {9 oI N ATUEAT w1 TR

v 1. ¥73.50
& 2 T62.50
/3 TT79.50
/< 4 T 8350

Question ID : 586180374
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